I\
YoDD

NI WIDIAY NN

GSRA AeeuD Yfelo Z UNIDOR morrisflex

Think threads with

WlDlA‘% @ﬁ Karmasch’ MYAMAWA




P YAMAWA

s (o ol

(S YAMAWA

SP-VA

PO-VA

91N> 09 - VA naT1on n'Tan
nVOINMI NIYE NIT97 D'M'RNN

e YT

1ISO Vc (m/min)

we oo T o

ISO_Vc (m/min) ISO_Vec (m/min) ISO_Vc (m/min)
N <10 ok [ZE <10 M1 <10 % Oversized <10 % <10 & M1 <10 *
il <0 * Ixf <" * * 1st choice i suitable = * i = ‘510 ‘i:(
<10 * * 1st choice + suitable
M 0" nn UNC 0"im nn M 0" nn UNC 0" nn
DIN 371 DIN 371 DIN 371 DIN 376
M2X0.4  SD2.0EAGEX m 160 N0.4-40UNC  SDUNAHXGEX w 175 M2X0.4 PD2.0EBGEX m 155 7/16-14UNC  PGUO7QYGEX rm 226
M2.5X0.45 SD2.5FAGEX K m 136 N0.6-32UNC | SDUN6JXGEX m 135 M2.2X0.45 PD2.5FBGEX m 132 1/2-13UNC | PGUOSBRYGEX m 253
M3x0s | SDSOGAGEX w109 - No.8-32UNC | SDUNBJXGEX m 135 M3X0.5 PD3.0GBGEX m 106 9/16-12UNC  PGUOSSYGEX m 348
ST m 138 '1“/"4-13631‘(’:"3 P M4X0.7 PDAOIBGEX | w106 5/8-11UNC  PGUTOUYGEX m 352
. - o
MAXO7 o MGEX w135 5/16-18UNC | SDUDSOXGEX m 162 M5X0.8 PD5.0KBGEX m 111 3/4-10UNC  PGU12VYGEX m 504
sx0g | SPEOKAGEX w113 3/B-16UNC  SDUOGPXGEX w187 Mex1 PD6.OMBGEX | w 111~ 7/8-OUNC  PGUTAWYGEX) m 718
SD5.0KMGEX | v 140 DIN 376 DIN 376 1 -8UNC PGU16XYGEX m 1078
M6X1 SD6.OMAGEX | m 113 7/16-14UNC | SGUO7QXGEX m 231 M8X1.25 PG8.ONBGEX | rw 155
SD6.0OMMGEX | m 140  1/2-13UNC  SGUOSRXGEX m 248 M10X1.5 PGO100BGEX | r 190 UNF v m a'nn
M8X1.25 SDB.ONAGEX | m 135  9/16-12UNC  SGUOISXGEX m 356 M12X1.75 PGO12PBGEX | m 203 DIN 371
SDOJNWERX| m 154 S/B-11UNG | SGUIOUXGEX | m 344 M14X2 PGOT4BGEX m 244 o 10.39UNF PDUNAJYGEX w 139
MIOK15 oo COAGER 161 3/4-T0UNG | SGUT2VXGEX m 494 M16X2 PGO16OBGEX ™ 307 1/4.98UNF  PDUOAKYGEX m 135
SDO100MGEX| m 196 7/8-9UNC  |SGU14WXGEX m 703
DIN 376 1-8UNC  SGUTBXXGEX m 1054 ME v | von UNETA,
M8X1.25 SG8.ONAGEX m 159 11/8-7UNC  SGU18YXGEX m 1361 5/16-24UNF  PMUOSMYGEX w 178
M10X1.5 | SGO100AGEX w194 1 1/4-7UNC  SGU20YXGEX m 1698 DIN 374 3/8-24UNF  PMUOBMYGEX r 203
Mi2x175 SSO1ZPAGEX w208 13/B-6UNC  SGU22ZXGEX m 2143 M8X1 PM8.OMBGEX w154 1/2-20UNF  PMUOSNYGEX m 279
SGO12PMGEX m 243 1 1/2-6UNC | SGU24ZXGEX m 2834 M10X1.25  PMO1ONBGEX m 184 9/16-18UNF |PMU09OYGEX m 323
M14X2 SGOT4QAGEX w 249 M10X1 PMO1OMBGEX m 184 5/8-18UNF  PMUT0OYGEX m 365
M16x2 SGO16AGEX | m 315 UNF o7im rnn M12X1.5 PMO120BGEX m 237 3/4-16UNF  PMU12PYGEX m 534
DIN 371 M12X1.25  PMO12NBGEX w237 7/8-14UNF  PMU14QYGEX m 801
MF v”pn a'nn
N0.10-32UNF SDUNAJXGEX m 143 M12X1 PMO12MBGEX w237 1-12UNF  PMU16SYGEX w 1198
DIN 374 1/4-28UNF  SDUO4KXGEX m 138 M14X1.5 PMO140BGEX r 286
M6X0.75 | SM6.0JAGEX | m 134 DIN 374 M16X1.5 PMO160BGEX | m 360 G(BSP) 0”im NN
msXi1 SMB.OMAGEX m 158  5/16-24UNF SMUOSMXGEX w 201 o
M8X0.75  SMB.0JAGEX m 158  3/8-24UNF  SMUOBMXGEX m 207 UNC o vnn
M10X1.25 SMO1ONAGEX m 189 ~ 7/16-20UNF SMUO7NXGEX m 254 1/8-28 PUGO020GEX | m 218
M10X1  SMOTOMAGEX m 189 1/2-20UNF  SMUOBNXGEX m 286 DIN 371 1/4-19 PVGOO0GEX | m 292
M12X1.5 SMO120AGEX m 243 g/16-18UNF SMUOSOXGEX m 394 No.4-40UNC  PDUNAHYGEX m 172 3/8-19 PVGOOGOGEX  r 405
M12X1.25 SMO12NAGEX w243 5/8-18UNF  SMU100XGEX m 397 N0.6-32UNC  PDUNGJYGEX m 132 1/2-14 PVGOOSOGEX r 588
M12X1 ~ SMO12MAGEX m243  3/4-16UNF  SMU12PXGEX i 535 No.8-32UNC  PDUNSJYGEX w132 3/4-14 PVGO120GEX r 960
M14X1.5  SMO140AGEX w 292 N0.10-24UNC PDUNAMYGEX m 129 1 -11 PVGO160GEX | 1692
M14X1  SMOTAMAGEX| m 304 1/4-20UNC  PDUOANYGEX mw 119
M16X1.5 |SMO1GOAGEX) m 369 5/16-18UNC  PDUOSOYGEX m 175
M16X1  SMO16MAGEX m 369
3/8-16UNC  PDUOGPYGEX m 183
G(BSP) v*m 2NN
DIN 5156
1/8-28  SVG0020GEX m 221
1/4-19  SVGOO40GEX mm 296
3/8-19  SVGOOBOGEX m 410
1/2-14  SVG0OSOGEX m 595
3/4-14  SVGO120GEX m 960 \/X
1-11 SVGO160GEX v 1692 IU1DD
WWW.MATARASO.CO.IL N WIDIAY NYan no.o 1



Think threads with nind oo - ZEN naT1on nniion n'T1han
MYAMAWA DINV'VI NVOINY NIV NITIOY D'N'RNN
Qﬂw 3P Qﬁ” 4,5P
ZEN-B HSS-P E ZEN-P HSS-P M n
ox svnc m Nx stc ¥ m

YAMAWA

YAMAWA

Ve (m/min)  1SO Ve (m/min)  ISO Ve (m/min) Ve (m/min)  1SO Ve (m/min)  1SO Ve (m/min)
M1 5:15 * 5:10 * 5:15 % M1 5:15 * 5:10 *
M2 5:15 * 5:10 * 5:15 % M2 5:15 * 5:10 *
5:15 % M3 4:8 * 5:10 % M3 4:8 * 3:6 %
5:15 * 5:15 *
5:10 4:8 *
5:15 % * 1st choice 3 suitable
4:8 K
* 1st choice ¥ suitable
M 0N 2NN UNC 0N 2NN M 0" a'nn UNC 0N 2NN
DIN 371 DIN 371 DIN 371 DIN 371
M3X0.5 SD3.0GBJPX | m 217 N0.4-40UNC | SDUN4HYJPX m 251 M3X0.5 PD3.0GBJPW w218 N0.6-32UNC PDUNG6JYJPW| m 193
M4X0.7 SD4.0BJPX ' m 217 N0.6-32UNC | SDUN6JYJPX m 193 M4X0.7 PD4.0IBJPW w218 N0.8-32UNC PDUN8JYJPW m 193
M5X0.8 SD5.0KBJPX | 224 N0.8-32UNC | SDUN8JYJPX | m 193 M5X0.8 PD5.0KBJPW ' i 224 N0.10-24UNC PDUNAMYJPW v 188
M6X1 SD6.0MBJPX | 224  No.10-24UNC SDUNAMYJPX m 188 M6X1 PD6.0OMBJPW m 224 1/4-20UNC  PDUO4ANYJPW | m 183
M8X1.25  SD8.ONBJPX | w275 1/4-20UNC | SDUO4NYJPX m 183 M8X1.25 PD8.ONBJPW | m 275 5/16-18UNGC PDUO50YJPW | m 259
M10X1.5 SDO100BJPX w330 5/16-18UNC ' SDU050YJPX | m 259 M10X1.5 PDO100BJPW m 326 3/8-16UNC  PDUO6PYJPW | m 272
DIN 376 3/8-16UNC | SDUO6PYJPX | m 272 DIN 376 DIN 376
M12X1.75 SGO12PBJPX | m 429 DIN 376 M12X1.75  PGO12PBJPW w429 1/2-13UNC  PGUOBRYJPW| m 390
M14X2 ' SGO14QBJPX| m 541 1/2-13UNC | SGUOBRYJPX | m 390 M14X2 PGO14QBJPW m 541 5/8-11UNC  PGU10UYJPW m 752
M16X2 SG016QBJPX w654 5/8-11TUNC | SGU10UYJPX m 790 M16X2 PGO16QBJPW m 685
UNF v”n Ann
MF 0”im NN UNF v"im Ann MF o m +nn
DIN 371
DIN 371 DIN 371 DIN 374 No.10-32UNF PDUNAJYJPW  m 209
M10X1.25 SMO10NBJPX w359 No.10-32UNF SDUNAJYJPX m 209 M10X1.25 PMO10NBJPW m 376 1/4-28UNF  PDUOAKYJPW = m 204
M12X1.5 SM0120BJPX w465 1/4-28UNF | SDUO4KYJPX | m 204 M12X1.5 PMO0120BJPW m 465 DIN 374
M12X1.25 SMO12NBJPX m 465 DIN 374 M12X1.25  PMO12NBJPW m 443 5/16-24UNF  PMUOSMYJPW m 289
5/16-24UNF SMUO5MYJPX m 289 3/8-24UNF  PMUOBMYJPW m 306
3/8-24UNF  |SMUOG6MYJPX| m 302 1/2-20UNF | PMUOSNYJPW  w 415
7/16-20UNF |SMUO7NYJPX| m 372 5/8-18UNF | PMU100YJPW m 790

1/2-20UNF | SMUOBNYJPX| m 415
9/16-18UNF | SMU090YJPX m 577
5/8-18UNF  SMU100YJPX| m 790

I\
"o7DD

2 nh.o I WIDIAY van WWW.MATARASO.CO.IL



mmmkmreads with HP naTon n'mion yn'? '7an

YAMAWA nVOINMII NITYOY DIMRNN

HPeRzPRZ (T  vsss|ond G I

1ISO Vc (m/min) 1ISO Vc (m/min) 1ISO_Vc (m/min) 1ISO Vc (m/min)
1530 * =8 15+25 % M1 10:25 % BN 10+45 ¢

1530 * A 10:25 x« M2 10:25 * 28 10:45 <

15:25 %
* 1st choice + suitable Oversized
M (to-lrecr;lrr?ce) v"im rnn M (to-lrecr;rr?ce) v7im rnn UNC (to-lrecr;rrf{ce) LZJ'IZFY\J U|"v|J7'Y:| rnn
Jis DIN 371 ANSI
M1X0.25 G4 HRZP41.0BB | m 361 IS02X(6HX) RD8.ONBFPTB  m 434 No.2-56UNC | H3 | 386801M Y86801 m 403
M1.2X0.25 G4 HRZP41.2BB | m 308 MB8X1.25 ISO3X(6GX) RD8.ONNFPTB  m 443 No.3-48UNC = H3  386802M Y86802 m 403
M1.4X0.3 G4 HRZP41.4CB | m 289 ISO2X(6HX) RDO100BFPTB| m 494 No.4-40UNC = H3  386804M Y86804 m 313
M1.6X0.35 G4 HRZP41.6DB | m 278 M10X1.5 ISO3X(6GX) RDO100NFPTB| m 505 No.5-40UNC = H5  386799M Y86799 m 336
TCTR DIN 376 No.6-32UNC H5 | 386809M Y86809 m 301
M (tolerance)  O""P o ISO2X(6HX) RGO12PBFPTB 633 No.8-32UNC  H5  386813M Y86813 mm 301
DIN 371 M12X1.75 ISO3X(6GX) RGO12PNFPTB s 647 No.10-24UNC'  H6  386817M Y86817 m 301
M2X0.4 ISO2X(6HX) | RE2.0EBFPTB  m 345 M14X2 IS02X(6HX) RGO14QBFPTB m 882 1/4-20UNC H6  386825M Y86825 m 309
ISO3X(6GX) A RE2.0ENFPTB | 345 M16X2 IS02X(6HX) RGO16QBFPTB m 883 5/16-18UNC H7  386833M Y86833 m 355
M2.5X0.45 IS02X(6HX) | RE2.5FBFPTB = 345 3/8-16UNC H7  386841M Y86841 m 523
ISO3X(6GX)  RE2.5FNFPTB  m 345
ISO2X(6HX) RE3.0GBFPTB  m 303 UNF (toLC,ance) o °|"£.” Stock
M3X0.5 ISO3X(6GX) RE3.0GNFPTB m 316 MF TR y ot nn AN
olerance,
IS02X(6HX) RE4.0IBFPTB | m 325 DIN 374 No.0-80UNF H2 | 386800M | Y86800 m 336
M4x0.7 ISO3X(6GX) RE4.0INFPTB = m 340 M10X1.25 | 1S02X(6HX) RMO10NBFPTB m 509 No.3-56UNF H3 | 386803M | Y86803 m 403
ISO2X(6HX) RE5.0KBFPTB | m 349 M12X1.5  IS02X(6HX) RMO120BFPTB m 627 No.4-48UNF H5 | 386807M | Y86807 m 368
M5X0.8 ISO3X(6GX)  RE5.0KNFPTB  m 365 M12X1.25 | 1S02X(6HX) RMO12NBFPTB m 558 No.10-32UNF ~ H6  386821M Y86821 m 301
ISO2X(6HX) RE6.OMBFPTB  m 349 M14X1.5  IS02X(6HX) RMO140BFPTB m 882 1/4-28UNF H6 | 386829M | Y86829 m 309
M6X1 ISO3X(6GX) RE6.OMNFPTB m 365 M16X1.5  IS02X(6HX) RMO160BFPTB m 916 3/8-24UNF H7 | 386845M | Y86845 m 523

7IN' 09 - 7791 NYWIN) ,NIP'Y' ,0INMI7XY? D'TIAN

AL+SP/AL-SP . @ ? ﬁ LA-HT . @E ﬂ

M o 7n RN IS0 Ve (m/min) M o i +nn 1SO Vc.(m/min)

10:25 * 5:15

DIN 371 10295 % DIN 371 5:15 %

M2X0.4 SE2.0EALEN @ m 180 10295 * M2X0.4 TD2.0EBLEN5 | m 176 5:10 %

M2.5X0.45 @ SE2.5FALEN | m 153 10295 * M2.5X0.45 | TD2.5FBLEN5 | m 149 5:10 %

M3X0.5 SE3.0GALEN = m 121 — M3X0.5 TD3.0GBLEN5 = mw 118 X 1st choice ¢ suitable

* 1st choice ¥ suitable
M4X0.7 SE4.0IALEN = m 121 M4X0.7 TD4.0IBLEN5 | m 118
M5X0.8 SE5.0KALEN | m 125 M5X0.8 TD5.0KBLEN5 | m 122
M6X1 SE6.0MALEN ' m 125 M6X1 TD6.OMBLEN5 | m 122
M8X1.25 SD8.ONALEN | m 147 M8X1.25 TD8.ONBLEN5 = m 153
M10X1.5 SDO100ALEN @ m 177 M10X1.5 TDO100BLENS | rw 185
DIN 376 DIN 376

M12X1.75 | SGO12PALEN @ v 251 M12X1.75 TGO12PBLEN5 m 245
M14X2 SGO14QALEN | rw 303 M14X2 TGO14QBLEN5 m 296
M16X2 SGO16QALEN | v 383 M16X2 TGO16QBLEN5 m 374

I\
"o7DD

WWW.MATARASO.CO.IL N WIDIAY 1¥an nho 3



P YAMAWA

Y5 win'y? D'Tan

DI"I'NI7XI NT797 D'N'NRNNn

b ar f
SP PO mﬂ
4
!!*‘* E E ! AR i L revETT F
“UHHHI':
ISO_Vc (m/min)  1SO_Vc (m/min) ISO_Vc (m/min) SO _Vc (m/min) ISO_Vc (m/min)  1SO_Vc (m/min) ISO_Vc (m/min) SO _Vc (m/min)
5:10 510 5:10 5:10 ¢ 5:10 510 5:10 * 5+10
5:10 * 5:8 5:10 * 5+10 510 * 5:8 ¢ 5:10 * 5+10 ¢
* 1st choice + suitable * 1st choice ¥ suitable
UNC 0N A'nn UNF v NN UNC v”pn NN UNF v nn
DIN 371 DIN 371 DIN 371 DIN 371
No0.2-56UNC = *SPPUN2E  m 157 No0.2-64UNF = *SPPUN2D | m 157 No.2-56UNC = *POPUN2E | m 152 No.0-80UNF = *POPUNOB ' m 199
No0.3-48UNC | *SPPUN3F | w132 N0.3-56UNF | *SPPUN3E | m 132 No0.3-48UNC | *POPUN3F | m 127 No.1-72UNF | *POPUNIC | m 179
No0.4-40UNC |SDUN4HXNEB m 160 N0.4-48UNF | SDUN4FXNEB m 129 No.4-40UNC |PDUN4HXNEB m 156 No0.2-64UNF | *POPUN2D | m 138
N0.5-40UNC | SDUNSHXNEB| m 129 No0.5-44UNF SDUN5SGXNEB| m 129 No0.5-40UNC PDUN5SHXNEB m 129 No.3-56UNF *POPUN3E = mw 116
N0.6-32UNC | SDUN6JXNEB| w 123  N0.6-40UNF SDUN6HXNEB m 136 N0.6-32UNC | PDUN6JXNEB m 120 No.4-48UNF | PDUN4FXNEB m 131
N0.8-32UNC | SDUN8BJXNEB | m 123 N0.8-36UNF | SDUNBIXNEB | m 122 No0.8-32UNC | PDUN8JXNEB m 120 No0.5-44UNF | PDUN5GXNEB| m 142
No0.10-24UNC |SDUNAMXNEB m 120  N0.10-32UNF SDUNAJXNEB | m 130 No.10-24UNC PDUNAMXNEB| w 117  N0.6-40UNF  PDUNGHXNEB m 113
N0.12-24UNC SDUNCMXNEB w 133  No.12-28UNF SDUNCKXNEB| m 133 No.12-24UNC PDUNCMXNEB| w 115 N0.8-36UNF  PDUNBIXNEB | m 113
1/4-20UNC | SDUOANXNEB| 111 1/4-28UNF | SDUO4KXNEB | m 125 1/4-20UNC  PDUO4NXNEB 108 No.10-32UNF PDUNAJXNEB m 127
5/16-18UNC  SDUO50XNEB | m 163 DIN 374 5/16-18UNC  PDUO50XNEB m 154 No.12-28UNF PDUNCKXNEB i 115
3/8-16UNC SDUO6PXNEB 5/16-24UNF SMUO5MXNEB r 184 3/8-16UNC  PDUO6PXNEB w 166  1/4-28UNF PDUO4KXNEB | m 123
DIN 376 3/8-24UNF  SMUOBMXNEB m 188 DIN 376 DIN 374
7/16-14UNC  SGUO7QXNEB w210 7/16-20UNF SMUO7NXNEB| m 231 7/16-14UNC  PGUO7QXNEB| w204 5/16-24UNF PMUOSMXNEB w 159
1/2-13UNC | SGUOSRXNEB | m 236 1/2-20UNF  SMUOBNXNEB| m 260 1/2-13UNC  PGUOSRXNEB w230 3/8-24UNF  PMUO6MXNEB m 184
9/16-12UNC  SGUO9SXNEB| m 324 9/16-18UNF SMUO9OXNEB| m 359 9/16-12UNC  PGUO9SXNEB | w290 7/16-20UNF PMUO7NXNEB| m 226
5/8-11UNC  SGU1OUXNEB w328 5/8-18UNF SMU100XNEB m 361 5/8-11UNC  PGU1OUXNEB| w295 1/2-20UNF  PMUOBNXNEB| m 252
*JIS 9/16-18UNF  PMUO90OXNEB| rs 322
5/8-18UNF  PMU100XNEB| rs 324
175 win'y? 0NN 0'TaN
2.5P ﬂ 5P
st I o
ISO_Vc(m/min)  1SO_Vc (m/min) ISO Vc (m/min) SO Vc (m/min) ISO_Vc (m/min)  1SO_Vc (m/min) ISO_Vc (m/min) SO _Vc (m/min)
5:10 % 5:10 * 510 5:10 5:10 510 BN 510 NER 5:10 %
5:10 % 5:8 510 5:10 510 * 5:8 ¢ PR 5:10 NI 5:10 5
* 1st choice i suitable * 1st choice ¥ suitable
M 0m ?.;.7';( ann M 0”m ?.;.7';{ 2NN M 0N ?.;.7';( a'nn M v"m _,‘.;.7';( 2NN
JIS JIS JIS JIS
M3X0.5 SPFP3.0GL10 100 | 248 SPQO100L15 | 150 | r 456 M3X0.5 POFQ3.0GL10 100 |m 239 P0S016QL15 150 | 751
SPFQ4.0IL10 1 100 | v 228 M10X1.5 SPQ0100L20 | 200  r 700 POFQ4.0IL10 | 100 | 219 M16x2 P0S016QL20 200 ™ 1032
M4x0.7 SPFQ4.0IL15 | 150 | 425 SPQO12PL15 150 w575 Waxo7 POFQ4.0IL15 | 150 m 437 M20X2.5 POS020RL20 200 m 1347
SPFQ5.0KL10| 100 ' 197 WH12X1.75 SPQO12PL20 | 200 w813 POFQ5.0KL10 100 ' 190
M5X0.8 M5X0.8
SPFQ5.0KL15 150 | 330 M14X2 SPQ014QL15 150 m 761 POFQ5.0KL15 150 ' 338
SPFQ6.0ML10 100 v 168 SPQO16QL15 | 150 i 780 POFQ6.0ML10 100 m 163
M6X1 M16X2 Mé6X1
SPFQ6.0ML15 150 | r 292 SPQ016QL20 200 w 1014 POFQ6.0ML15 150 m 300
SPQ8.ONL10 | 100 | m 229 M20X2.5 | SPRO20RL20 200 m 1382 M10X1.5 | POR0100L15 150 |m 440
M8X1.25 SPQ8.ONL15 | 150 | m 386 M24X3 SPR024SL20 200 r 1642 M12X1.75 P0S012PL15 150 |m 553

4 no.o

I\
"o7DD

INIW' WIDIAY Nan

WWW.MATARASO.CO.IL



P YAMAWA

yn? 'Tan

7291 NUIN1 ,01MMITXY? D''RNN

N+RS/N-RS .@Iw m

1ISO Vc (m/min)
515 %

5:15 %

5:15 %

* 1st choice + stitable Oversized

M TCTR

“n
(tolerance) i

a'nn

DIN 371

M2X0.4 I1SO2X(6HX) RE2.0EBKENB

w 274

M2.5X0.45 1S02X(6HX) RE2.5FBKENB

w 238

M3X0.5 1S02X(6HX) RE3.0GBKENB

w 180

M4X0.7 I1S02X(6HX) RE4.0IBKENB

w 180

M5X0.8 1S02X(6HX) RE5.0KBKENB

m 188

MeéX1 1S02X(6HX) RE6.0MBKENB

w 188

M8X1.25 1S02X(6HX) RD8.ONBHEXB

246

M10X1.5 1S02X(6HX) RD0100BHEXB

w 242

UNC TCTR v”m

(tolerance)

ann

JIS

G4 NRSM4UN2EB

No.2-36UNC G5(G4+13) NRSM5UN2EB

w 142
w 142

G4 NRSM4UN3FB

No.3-48UNC
G5(G4+13) NRSM5UN3FB

w127
o 127

G5 |NRSM5UN4HB

No.4-40UNC 66(G5+13) NRSMBUN4HB

w123
w123

G5 NRSM5UN6JB

No-6-32UNC 5 65+13) nmsmeuNeB

w 111
w 111

G6 NRSM6UN8JB

No.8-32UNC G7(G6+13) NRSM7UN8JB

w121
w121

G6  NRSMBUNAMB
No.10-24UNC G7(G6+13) NRSM7UNAMB

w129
w129

G6 NRSM6U04NB

1/4-20UNC G8(G7+13) NRSM8U04NB

w 140
w 140

TCTR .
UNF (tolerance) o7im

ann

JIS

No.0-80UNF G5  NRSM5UNOBB

w193

No.1-72UNF G5 | NRSM5UN1CB

o 184

G5 NRSMS5UN4FB

No.4-48UNF
G6(G5+13) NRSMBUN4FB

w123
w123

No.5-44UNF G6 | NRSMGUN5GB

w 119

No.6-40UNF G5 | NRSM5UNGHB

w 111

G5 NRSM5UNSIB

No.8-36UNF ¢ 65+13) NRswsuNaiB

w 121
w 121

No.10-32UNF G6 NRSM6UNAJB
) G7(G6+13) NRSM7UNAJB

w129
w129

1/4-28UNF G6  NRSM6U04KB

WWW.MATARASO.CO.IL

140

LS-N-RS

1ISO Vc (m/min)
5:15 %
5:15 %
5:15 %
* 1st choice + suitable
. THCHT i ,
M vrim (chamfer)| "7'72 rn
JIS
NRSF53.0GP10 4P 100 w242
M3X0.5
NRSF53.0GB10 2P 100 | m 242
NRSF64.0IP10 4P 100 | m 217
M4X0.7
NRSF64.01B10 2P 100 | m 217
NRSF65.0KP10 4P 100 | @ 195
M5X0.8
NRSF65.0KkB10 2P 100 | @ 195
NRSF76.0MP10 4P 100 | m 184
Mé6X1
NRSF76.0MP15 4P 150 | m 284
NRSM78.0NP10, 4P 100 | w223
M8X1.25
NRSM78.0NP15 4P 150  r 367
NRSM70100P10 4P 100 w221
M10X1.5
NRSM70100P15 4P 150 | @ 430

o i

DIMMIRY? 715" 0 yn'? 'man

Ll [ [

N-RS STI

1SO_Vc (m/min)
5:15 %

5:156 %

5:156 %

* 1st choice  suitable

EGSTOM | o7n (D% nn
JIS

STIM3X0.5 RW3.0G3LENB| 52 @ m 187
STI M4X0.7 RW4.04LENB | 60 = 181
STIM5X0.8 RW5.0KALENB| 62 @ m 175
STI M6X1 RW6.0M4LENB| 70 | v 191
STI M8X1.25 RWS8.ONALENB| 75 ' m 266
STIM10X1.5 RWO1005LENB| 82 @ m 358
STI M12X1.75 RWO12P6LENB| 95 | 491

AN
v plhlp)

INIW' WIDIAY Nan

no.u 5



P YAMAWA

oimmi7x? STI/ 7170 n'man

AL-HT STI I?

5:16 %
5:16 %
5:10 ¥
5:10 %

* 1st choice i suitable

AL-SP STI

st 0 o

10+25 *
10+25 *
10+25 *

10+25 *

* 1st choice i suitable

EG(ST) M o N ann EG(STI) M 0" N0
JIs JIs

STI M3X0.5 TW3.0GILEBA | 52 | m 124 STIM3X0.5 | SW3.0GILEN @ r 141
STI M4X0.7 TW4.0HLEBA | 60 | m 121 STIM4X0.7 | SWA.OHLEN | m 138
STI M5X0.8 TW5.0KILEBA | 62  m 116 STIM5X0.8 | SW5.0KILEN | m 132
STI MéX1 TW6.0M1LEBA | 70 | m 127 STI M6X1 SW6.0M1LEN | m 144
STI M8X1.25 TW8.ON1LEBA | 75 | m 177 STI M8X1.25 ' SWB8.ON1LEN | w 203
STI M10X1.5 TWO1001LEBA | 82 | r 238 STIM10X1.5 | SWO1001LEN | m 272
STI M12X1.75 TWO12P1LEBA | 95 | m 297 STI M12X1.75 SWO12P1LEN | m 375
STI M16X2 TW016Q1LEBA | 105 | m 567 STIM16X2 | SWO16QILEN | m 670

EGSTHUNC  on 1% v

JIs
STI N0.4-40UNC  TWUN4H1LEBA 52 @ m 142
STl No.6-32UNC  TWUN6J1LEBA | 60 | m 133
STI N0.8-32UNC  TWUNSJ1LEBA | 62 | m 131 Sp
STI No.10-24UNC TWUNAM1LEBA 62 | m 131
STI1/4-20UNC  TWUO4N1LEBA | 70 | m 178
STI5/16-18UNC  TWUO501LEBA | 75 | i 234
STI 3/8-16UNC  TWUOGP1LEBA | 82 | m 258
STI 1/2-13UNC

UNEF "11'20 TMan

har-

TWUOBR1LEBA 95 | m 424 ISO Vc (m/min)  ISO Vc (m/min)
5+10 % 5+10 ¥
EG(STI) UNF u”pn -:'.;].7';( NN 5:10 % 5:10 %
5+10 % 5+10 ¥
JIs
5+8 ¥ 5+10 ¥
STI No.10-32UNF TWUNAJ1LEBA 62 @ mw 131
STI1/4-28UNF  TWUO4KILEBA 70 @ m 178 st choice 3 suitable
STI5/16-24UNF  TWUOSM1LEBA| 75 234
STI 3/8-24UNF  TWUOGM1LEBA 82 m 258 UNEF on LU o
STI 1/2-20UNF | TWUOSN1LEBA 95 | w424 s
1/4-32UNEF SPQU04J 62 | w141
5/16-32UNEF = SPQUO5SJ | 70 | m 197
3/8-32UNEF SPQUOGJ | 75 | m 239

7/16-28UNEF
9/16-24UNEF
5/8-24UNEF
3/4-20UNEF

SPQUO7K 82 | w307
SPQUO9M 95 | w523
SPQU10M 95 | 576
SPQU12N 105 | v 882

I\
1o7DD

6 nh.o N WIDIAY A¥an WWW.MATARASO.CO.IL



-~ v pnn nifMivn

(L - ..Qv DIN'MIRI NITYOY

nImi7x niwn? DIN1838 1x nT79 nniwn? DIN1837 |¢7 v

mmmﬂmmm

w165 w252 w193
.m w165 w252 w185 FLAALL L
0.3 IS 252 169 492 -
0.4 BE w224 165 w464 w653 :
0.45 TGS w216 w169 w358 w653 == =T £
0.5 BT w216 w169 w354 w653 w1133 4
0.6 IS 228 w169 338 w629 1070 - L
w165 w248 w173 w342 w598 w1031 w1668 ; \
0.8 I w268 w181 374 w539 w916 1668 w1762 | |
0.9 TS w279 189 w393 w539 w916 w1786 w1746 t':1
P w287 w193 397 w507 861 1656 1746 ‘-.
R w295 w201 w401 w527 w928 w1750 w1786 1\‘
1.2 il w307 205 w417 559 w995 w1849 w1974 .
[ st w307 228 w437 w590 1058 1896 w2077 \. |
1.4 T w315 w236 452 w610 w1125 w2175 w2140 =
1.5 Tk w330 w244 w460 w633 w1070 w2238 w2140 3504
1.6 w338 248 w472 661 1259 2254 2140
w212 w354 w252 w507 w696 w1321 w2269 w2238
1.8 I w354 268 w515 w716 w1392 w2269 w2336
[ n2te w374 268 w527 759 1455 2368 w2419
P 24 w389 w283 551 w787 w1522 w2368 w2419 w4971 7744
[ 2.5 BT w456 w342 w641 w905 1852 w2560 2855 w6053 w6938
P naz w515 w393 759 w1038 2183 2820 2985 w7135 8169
[ naot w653 w472 w912 1357 2844 w3697 3890 9294 10599
[ 5 ) 775 582 w1105 1668 3500 w4539 w4798 11453 13062
[0 w0 1007 669 w1286 2147 4161 5380 5707 w13616 15559
.NYXN '97 NI901 NIT'A 7277 N2
@
Karnasch NYNan N'MTP NN'A0 NINIYN 2'Thn
S o
M R[] ] ] o] ] (S5 8 |
mijx;lﬁ:jiiziﬁ__f_m 561000506 5 762
J 561000510 .5 10 1o 80 1o 6 8 w762
oL = - 561000810 o8 10 15 80 10 6 13 wer4
l 8 561000812 o8 12 15 90 1 6 13 w874
561001006 10 6 18 80 10.5 6 15 w906
. 561001010 10 10 18 80 10.5 6 15 w906
i 561001016 10 16 18 100 1.5 6 15 w906
4 561001316 13 16 22 110 12 6 19 w1017
I 561001610 16 10 22 80 8 3 19 w1170
_ 561001620 16 20 26 120 13 6 22 w170
e 561002216 22 16 32 120 13 6 27 w170
4L
==
0’
{ 7 NIj7nN NMINK N0 NIMIYA 2'Thn
S oo JG20 R TR N 2 T | T
561010504 4 6 w762
- 561010806 8 6 15 70 2 6 13 w874
561011008 10 8 18 90 25 6 15 w906
561011310 13 10 22 110 25 6 19 w1017
o 561011612 16 12 26 120 25 6 22 w70
ﬂEﬁé e

WWW.MATARASO.CO.IL N WIDIAY 1¥an nho 7



@@@@

A Shape B Shape C Shape D Shape E Shape F Shape G Shape

NG6 v~pnn nin'xo

nn'yon [0 NG6 -n nn'yo
.071y2 NIM'oNaNn
D' TIN'D '19'¥N1 N"VAINAN

L Shape M Shape

D g S HE T,

NIT791 NXXIN MNIN N0 DN
75%-100% |2 nvonnnl

&
&

KA60618-NG6 ACC 6 6
KA60820-NG6 ACC 8 19 6
KA61020-NG6 ACC 96 19 6 64 w117
KA61225-NG6 DIN ACC 12 | 25 6
KA61525-NG6 ACC 16 25 6

@ B

NG6 B
KB60618-NG6 ACC w92
KB60820-NG6 ACC 8 19 6 64 120
KB61020-NG6 ACC 96 19 6 64 w129
KB61225-NG6 DIN ACC 12 25 6 70 w202
KB61525-NG6 ACC 16 25 6 70 w254

NG6 C
KC60618-NG6 ACC w97
KC60820-NG6 ACC 8 19 6 64 w119
KC61020-NG6 ACC 9.6 19 6 64 w131
KC61225-NG6 DIN ACC 12 25 6 70 w206
KC61525-NG6 ACC 16 25 6 70 w259

NG6 D

IS 7

KD60606-NG6 ACC w89
KD60808-NG6 ACC 8 6 52 w96
KD61010-NG6 ACC 9.6 8 6 53 w107
KD61212-NG6 DIN ACC 12 1 6 56 m145
KD61515-NG6 ACC 16 14 6 59 w180

NG6 E

"'IIN "'IIN
II 1
1L

KEB60610-NG6 ACC w109
KEB60815-NG6 ACC 8 15 6 60 w120
KE61015-NG6 ACC 9.6 16 6 61 w131

‘ KE61220-NG6 DIN ACC 12 21 6 66 w192
KE61525-NG6 ACC 16 25 6 70 w266

AVAN

T S0ITIVON 22WN NAIY7 oN
NG6 F
KF60618-NG6 ACC m101
KF60820-NG6 ACC 8 20 6 65 w120
KF61020-NG6 ACC 96 19 6 64 w128
KF61225-NG6 DIN ACC 120 | 25 6 70 w189
KF61525-NG6 ACC 16 25 6 70 w261

NG6 G
KG60618-NG6 ACC w101
KG60820-NG6 ACC 8 19 6 64 w123
KG61020-NG6 ACC 96 19 6 64 w137
KG61225-NG6 DIN ACC 12 25 6 70 w186
KG61525-NG6 ACC 16 25 6 70 w258

NG6 H
KH60614-NG6 ACC w101
KH60820-NG6 ACC 8 19 6 64 w134
KH61020-NG6 ACC 10 20 6 65 w233
KH61232-NG6 DIN ACC 12 30 6 75 w274
KH61535-NG6 ACC 16 36 6 81 w379

NG6 L

IR A

KL60618-NG6 ACC w104
KL60822-NG6 ACC 8 25 6 70 w136
KL61020-NG6 ACC 10 20 6 65 w164
. KL61230-NG6 DIN ACC 12 30 6 75 w200
i KL61533-NG6 ACC 16 33 6 78 w393

NG6 M
KM60618-NG6 ACC w104
KM60820-NG6 ACC 8 185 6 64 w152
KM61020-NG6 ACC 10 19 6 64 w164
KM61222-NG6 DIN ACC 12 25 6 70 w205
KM61525-NG6 ACC 16 29 6 74 w274

10700

INIW' WIDIAY Nan

WWW.MATARASO.CO.IL



morrisflex

nn 3 NIp U”pnn NINXOS

KA
- [
KA31.506-2 KA31.506-6
t 2 11 3 38 KA30211-2 KA30211-6
2.5 12 3 38 KA32.512-2 KA32.512-6
3 12 3 38 KA30312-6AS
i 3 14 3 38 KA30314-2  KA30314-3  KA30314-6
1 3 14 3 50 (XL)  KA30314-2-50 KA30314-6-50
3 14 3  75(2XL) KA30314-2-75 KA30314-6-75
3 14 3 100 (3XL) KA30314-2-100 KA30314-6-100
5 12.7 3 38 KA30512-2 KA30512-6
6.3 4.7 3 37 KA30605-2 KA30605-6
6.3 12.7 3 45 KA30612-2  KA30612-3  KA30612-6

KC
TIN
S IR EEEE
| KC30211-2 KC30211-6
, 2.5 11 3 38 KC32.511-2 KC32.511-6
3 12 3 38 KC30312-6AS
3 14 3 38 KC30312-2  KC30312-3  KC30312-6
' 3 14 3 50 (XL) ~ KC30312-2-50 KC30312-6-50
fez1 3 14 3  75(2XL) KC30312-2-75 KC30312-6-75
3 14 3 100 (3XL) KC30312-2-100 KC30312-6-100
5 12.7 3 38 KC30512-2 KC30512-6
6 12.7 3 45 KC30612-2 KC30612-3 KC30612-6
KD
TN
S I EEEEEE
KD30202-2 KD30202-6
e 2.5 2.3 3 38 KD32.52.5-2 KD32.52.5-6
3 2.5 3 38 KD30303-2  KD30303-3  KD30303-6 KD30303-6AS
& 25 3 50 (XL)  KD30303-2-50 KD30303-6-50
3 25 3 75(2XL) KD30303-2-75 KD30303-6-75
! 4 34 S 38 KD30404-2  KD30404-3  KD30404-6
5 4.7 3 38 KD30505-2 KD30505-6
6.3 5 3 38 KD30606-2  KD30606-3  KD30606-6
KE
1 TIN
3 6 3 KE30306-2  KE30306-3  KE30306-6 KE30306-6AS
3 6 3 50 (XL) KE30306-2-50 KE30306-6-50
3 6 3  75(2XL) KE30306-2-75 KE30306-6-75
) 8 3 38 KE30508-2 KE30508-6
= 9.5 3 42 KE30610-2 KE30610-3 KE30610-6
WWW.MATARASO.CO.IL I gw-w!upmp

2 'On 12V MY

,NIT92 770 win'wh
DI"'MI7X,NVOIN"
.D'WUj Dnini

3on1av "MIv

NN Min non?
DI'MI7X 0D DMNINd
.j7'00791

4 'on 12V MV

Ymm [Ty 22w "
NIYR NIT?91 win'yy
.DI']U'UI 271 ,nvoINn

6 'on 1Y NIV

ASRSTANTA

e i —

NIT792 7' win'wY
DINMIZX ,nvoNM
.D'wUi DMnini

AS 12w nv

,NVOIN wIN'YY
.01Vl 771

ns.o 9



morrisflex

n’n 3 NIp U”pnn NN

KL
A
3 38 KF30306-2 KF30306-6
3 38 KF30308-2 KF30308-6
3 38 KF30312-2 KF30312-3 KF30312-6 KF30312-6AS
3 50 (XL)  KF30312-2-50 KF30312-6-50
3 75(2XL) KF30312-2-75 KF30312-6-75
3 38 KF30512-2 KF30512-6
3 45 KF30612-2 KF30612-3 KF30612-6 KF30612-6

14
127
63 127

1IN

3 KG30306-2 KG30306-6
- 3 8 3 38 KG30308-6AS
3 10 3 38 KG30310-2 KG30310-6
8 14 3 38 KG30312-2 KG30312-3 KG30312-6 KG30314-6AS
' 3 14 3 50 (XL)  KG30312-2-50 KG30312-6-50
= 3 14 3  75(2XL) KG30312-2-75 KG30312-6-75
5 12.7 3 38 KG30512-2 KG30512-6
6.3 12.7 3 45 KG30612-2 KG30612-3 KG30612-6

6 38 KH30306-2 KH30306-6 KH30306-6AS
6 50 (XL)  KH30306-2-50 KH30306-6-50

6 75 (2XL)  KH30306-2-75 KH30306-6-75

9.5 38 KH30510-2 KH30510-6

10 43 KH30612-2 KH30612-6

el
3
S
3
3
3

o g1 W W W

574

N TN

3 KL30310-2 KL30310-6
i 3 14 3 38 KL30312-2 KL30312-3 KL30312-6 KL30312-6AS
3 14 3 50 (XL)  KL30312-2-50 KL30312-6-50
3 14 3 75(2XL) KL30312-2-75 KL30312-6-75
.- ! 5 12.7 3 38 KL30512-2 KL30512-6
6.3 15.8 3 48 KL30612-2 KL30612-3 KL30612-6

1

' KM30308-2 KM30308-6
5 3 11 3 38 KM30311-2 KM30311-3 KM30311-6
3 15 3 38 KM30315-2 KM30315-6 KM30315-6AS
6.3 12.7 3 48 KM30612-2 KM30612-3 KM30612-6
o 5 12.7 3 38 KL30512-2 KL30512-6
6.3 15.8 3 48 KL30612-2 KL30612-3 KL30612-6
AVAN
101

10 nsb.o N WIDIAY 1¥an WWW.MATARASO.CO.IL



morrisflex W ann nANe

Shape: A, ZYA, SA —

Shape: E, TRE, SE
? T N R 7 EEEOOOOE
%

KE30306-6 w32
42 w52
50 w71
60 78
60 w85
67 w125
70 w173

KA30612-6 6:3 ) 12
KAB0618-6 6 18
KA60820-6 8 19
KA61020-6 96 19
KA61225-6 420025 70 w119
KAG1525-6 16 25 70 w150
KAG62025-6 1925 6 70 w223
.15% nooma 7'vo nx¥n oy 727 |INa*

45 w52
50 w54
64 w71
64 76

o

; \  KE306106 63 95
! KE606106 = 6 « 10
! KEG0815-6 8 15
“| KkEe1015-6 | 10 = 16
KE612206 12 22

KE61525-6 16 25

D OO OO OO O W
oo OO OO OO O W

Shape: C, WRC, SC Shape: D, KUD, SD
_!IIIIIEIE _mnmﬂ
Lt KC30312-6 w32 (- - KD30303-6 w32
1 | KC306126 63 12 3 45 w52 ‘e o KD30606-6 63 5 3 38  mb2
" KC60413-6 = 4 14 6 50 @ w63 - kpeosos5 1 6 a7zl 6 | 50 | wss
KCe0516-6 5 16 6 50 w63 | T N T
| 006256 | 6 | 25 6 ) S0 ) w63 KD61010-6 10 8 6 54 w70
KC60820-6 8 20 6 64 w77
KC610206 = 10 20 6 64 85
©n | KCG12256 12 25 6 70 w133 2
KC61525-6 = 16 25 6 70 @ w168
Shape: F, RBF, SF Shape: H, SH
BN TN N R N Y L ESURESIA G
o KF30308-6 32 < KH30306-6 32
\ KF303126 3 12 3 38 w32 " KH305106 5 10 3 38 m76
1 KF30612-6 63 12 3 45 w52 KH60614-6 6 14 6 50 w66
KFeoe18-6 6 18 6 50 w66 KH608206 8 19 6 64 w87
. KF60820-6 ~ 8 20 6 65 w77 KH61020-6 = 10 19 6 = 65  m151
KF610206 10 20 6 64 w83 KH612326 12 32 6 77 w178
KF61220-6 12 20 6 64 w122
= KF612256 12 25 6 70 wi23 =
KF61525-6 16 25 6 70 w170
Shape: G, SPG, SG Shape: L, KEL SL
T s TorT i T o]
. KG30310-6 32 ST KL30310-6 w32
7 KG303126 3 12 3 38 w32 ¢ ' R
KG306126 | 63 ] 12 ] 3 ] 45 | w52 ' KL60G186 = 6 18 = 6 | 50 14 | 67
KGE0618-6 | 6 | 18 ) 6 | 50 | méb “=J K026 8 22 6 70 14 wes
KG60820-6 | 8 } 20 | 6 | 64 | mé0 KL61026-6 | 10 26 = 6 76 14 | w106
KGE1020.6 | 10 | 20 | 6 | 64 | mé9 KL612256 12 25 6 70 17 w131
KG612256 12 25 6 | 70 @ mi21 |
@
Shape: M, SKM, SM Rim Shape
KM303086 3 w32 =t asi0n6:2 =130
KM30311-6 | 3 |11} 3 |38] 14 ] ma s ' KA612262 12 26 6 48 A wi30
KM303156 ] 3 } 151 3 ]38 10 | m32 © KRAR625032 25 32 6 48 RAR w410
KM306126 | 6 | 121} 3 1494 22 | w52 KRA625052 25 55 6 50 RAR m410
KMB0B12:6 | 6 ] 121 6 | 50§ 20 | m64 KR625062 25 63 6 51 A  m360
KMEDE206 | 6 1201 6 | S0f 141 w7 T KRAR63806-2 38 61 6 51 RAR  m6ds
KM606256 6 25 6 50 10 @ w73 o :
3 KM60818-6 8 18 6 64 22 w98 = e T =
KM610206 10 20 6 | 64 28 w106 l- U } —‘T
KM12226 12 22 6 71 28 w133 _

I\
7DD

WWW.MATARASO.CO.IL N WIDIAY 1¥an nho 1



morrisflex

b

ping —mnmm

d

U pnNn NiN'yo

DIM'MIYXY NINXYOS

—mnmm

KA60618-3
KA61020-3
KA61225-3
KA61525-3
KA62025-3

_EIIIIIEIE

KC60618-3
KC61020-3
KC61225-3
KC61525-3
KC62025-3

KD60606-3
KD61010-3
KD61212-3
KD61515-3
KD62020-3

10
12.7
16
19

9.6
12.7
16
19

9.6
12.7
16
19

19
25
25
25

19
25
25
25

8

1

14
16.5

[N e> Rl o> RN >)

o o O O

oD o O O

64
70
70
70

64
70
70
70

54
56
59
62

w68
w95
149
w189
w280

w79

107
w167
w211
w302

w73
w87
w118
146
w202

a2

&1

KE60610-3
KE61015-3 96 16
KE61220-3 127 22

KE61525-3 16 25
KE62025-3 19 25

oD OO OO O

w89
60 w107
67 156
70 w217
70 w291

_IEEIIIIEEIE

KF60618-3
KF61020-3 96 19
KF61225-3 127 25

KF61525-3 16 25
KF62025-3 19 25

o OO OO O

w83
64 w105
70 w155
70 w213
70 w280

= _EIIIIEIE

}

'

KL60618-3

KL61020-3 96 30
KL61228-3 127 25
KL61533-3 16 25

o o o

w85
64 w133
70 w163
70 w321

NDIAX NIN'YS

[

i

12 no.o

KA30314-6-50

KA30314-6-75

KA30314-6-100
KA60618-6-100
KA60618-6-150
KA60820-6-170
KA61020-6-170
KA61225-6-175

KC30312-6-50

KC30312-6-75

KC30312-6-100
KC60618-6-100
KC60618-6-150
KC60820-6-170
KC61020-6-170
KC61225-6-175

KD30303-6-50
KD30303-6-75
KD60808-180
KD61010-185
KD61212-6-162

KE30306-6-50
KE30306-6-75
KE61015-6-165
KE61220-6-170

3
3
6
6
8

10
12

3
3
3
6
6
8

10
12

3
8
10
12

3
9.6

12.7

14
14
18
18
19
19
25

14
14
18
18
19
19
25

2.5
6
6
6

6
16
22

D OO O OO W W

D OO O OO W W

3
6
6
6

o W

75
100
100
150
170
170
170

75
100
100
150
170
170
170

75
180
185
162

75
165
170

_EEIIIIEIE

w41
w52
w83
w144
w222
w123
w149
w211

—mnmm

w47
w52
w83
w150
w227
w134
w140
w199

—mmmm

w43

w49

w119
w121
w148

_mnmm

w42
w51
w141
w175

Ll
r —
"
L
H)
a1
LAt
e
- ]
n
e
L]

-

al

N [

-

I\
o700

INIW' WIDIAY Nan

_EIIIIIEIE

KF30312-6-50

KF30312-6-75 3 14
KF60618-6-150 = 6 18
KF61020-6-170 9.6 19
KF61225-6-175  12.7 = 25

o O O W

w47
75 w52
150 m227
170 w135
178 w175

—mnmm

KG30312-6-50

KG30312-6-75 3 14
KG61020-6-170 = 9.6 = 19
KG61225-6-175 12.7 25

3

S
6
6

w42
75 w51
170 w141
175 w175

.

KH30306-6-50

KH30306-6-75 3 14
KH60820-6-170 = 8 19
KH61232-6-182 12.7 32

o O W

w42
75 w51
170 w134
182 w225

.

KL30312-6-50

KL30312-6-75 3 14
KL61026-6-176 = 9.6 =~ 30
KL61228-6-182 12.7 30

o O W

w42
75 w51
176 = w172
182 w193

WWW.MATARASO.CO.IL



nT™]M ')

111 20001 12

¥ 5]

111-006-12 0-150 0.01 w299
111-008-12 0-200 0.01 w469
111-012-12 0-300 0.01 w759
1 =
(— | —————c—1_
‘I-IJ;; IP67 70121 27
LI
on | oo | winn | vmn
112-006-12 0-150 0.01 w994
112-008-12 0-200 0.01 w1350
112-012-12 0-300 0.01 w1900

20007 a1y Nt

171-006-11 0-150 0.01 w508
171-008-11 0-200 0.01 w592
171-012-11 0-300 0.01 w1286

E, nT TN NITIN 3 mno 0NN’

(|

I e
362-003-01 10-12 0.004 w2044
362-004-01 12-16 0.004 w1556
362-005-01 16-20 0.004 w1556
362-006-01 20-25 0.004 w2164

']I1U|1'7N n1'S XXIn

IP65 1nvj X 019'X [pNn
(qixoxI NNINN)

'ONIVIX '"12'1 '01an 0'02

692-010-03 697-050-01

m 869 w 1164

IP65 01T q0nNP'

313-001-01 0-25 0.002 w810
313-002-01 25-50 0.002 w998
313-003-01* 50-75 0.003 w1206

Dan% Yonnpn

326-001-03 0-25 0.004 w1323
326-002-03 25-50 0.004 w1437
326-003-03 50-75 0.005 w1576

J0nIoo
349-001-01 0-25 0.003 w2617
349-002-01* 25-50 0.003 w2981
349-003-01* 50-75 0.004 w3848

™I NTTY NV

ECEETTTE T

297-003-11 0.01 w1297

LOL'OIS 17190 '02an 0'01
0-4 nuv 13 7 80KG
@30 - 261-008-11

@37.5 - 261-008-12 283-080-01

w 439 w 332

I\
7DD

WWW.MATARASO.CO.IL N WIDIAY A¥an ny.o 13



DTN

NPl NYav TN

n:.‘n nyav m™mn DT T'TN

M2*0.4 533-002-01 532-002-01 532-002-01 4-40UNC 537-00440-UNC ~ 538-00440-UNC  547-00440-UNC
M2.2%0.45 533-002-21 532-002-21 532-002-21 6-32UNC 537-00632-UNC  538-00632-UNC  547-00632-UNC
M2.5*0.45 533-002-51 532-002-51 532-002-51 8-32UNC 537-00832-UNC ~ 538-00832-UNC  547-00832-UNC
M2.6%0.45 533-002-61 532-002-61 532-002-61 10-24UNC 537-01024-UNC  538-01024-UNC  547-01024-UNC
M3*0.5 533-003-01 532-003-01 532-003-01 1/4-20UNC 537-01420-UNC  538-01420-UNC  547-01420-UNC
M3.5%0.6 533-003-51 532-003-51 532-003-51 5/16-18UNC 537-51618-UNC  538-51618-UNC  547-51618-UNC
M4*0.7 533-004-01 532-004-01 532-004-01 3/8-16UNC 537-03816-UNC  538-03816-UNC  547-03816-UNC
M5*0.8 533-005-01 532-005-01 532-005-01 7/16-14UNC 537-71614-UNC  538-71614-UNC  547-71614-UNC
M6*1 533-006-01 532-006-01 532-006-01 1/2-13 UNC 537-01213-UNC  538-01213-UNC  547-01213-UNC
M7*1 533-007-01 532-007-01 532-007-01 9/16-12UNC 537-91612-UNC  538-91612-UNC  547-91612-UNC
M8*1.25 533-008-01 532-008-01 532-008-01 5/8-11UNC 537-05811-UNC  538-05811-UNC  547-05811-UNC
M9*1.25 533-009-01 532-009-01 532-009-01 3/4-10UNC 537-03410-UNC  538-03410-UNC  547-03410-UNC
M10*1.5 533-010-01 532-010-01 532-010-01 7/8-9UNC 537-07809-UNC ~ 538-07809-UNC  547-07809-UNC
M11*1.5 533-011-01 532-011-01 532-011-01 1-8 UNC 537-01080-UNC  538-01080-UNC  547-01080-UNC
M12*1.75 533-012-01 532-012-01 532-012-01

M14*2 533-014-01 532-014-01 532-014-01
M16*2 533-016-01 532-016-01 532-016-01

M18*2.5 533-018-01 532-018-01 532-018-01 m
M20*2.5 533-020-01 532-020-01 532-020-01 4-48UNF 537-04048-UNF = 538-04048-UNF  547-04048-UNF
M22*2.5 533-022-01 532-022-01 532-022-01 6-40UNF 537-06040-UNF  538-06040-UNF  547-06040-UNF
M24*3 533-024-01 532-024-01 532-024-01 8-36UNF 537-08036-UNF ~ 538-08036-UNF  547-08036-UNF
M27*3 533-027-01 532-027-01 532-027-01 10-32UNF 537-01032-UNF  538-01032-UNF  547-01032-UNF
M30*3.5 533-030-01 532-030-01 532-030-01 1/4-28UNF 537-01428-UNF  538-01428-UNF = 547-01428-UNF
M33*3.5 533-033-01 532-033-01 532-033-01 5/16-24UNF 537-51624-UNF  538-51624-UNF  547-51624-UNF
M36*4 533-036-01 532-036-01 532-036-01 3/8-24UNF 537-03824-UNF = 538-03824-UNF  547-03824-UNF
M39*4 533-039-01 532-039-01 532-039-01 7/16-20 UNF 537-71620-UNF  538-71620-UNF  547-71620-UNF
M42*4.5 533-042-01 532-042-01 532-042-01 1/2-20 UNF 537-01220-UNF = 538-01220-UNF  547-01220-UNF
M45*4.5 533-045-01 532-045-01 532-045-01 9/16-18UNF 537-91618-UNF  538-91618-UNF  547-91618-UNF
M48*5 533-048-01 532-048-01 532-048-01 5/8-18UNF 537-05818-UNF = 538-05818-UNF  547-05818-UNF
M52*5 533-052-01 532-052-01 532-052-01 3/4-16UNF 537-03416-UNF  538-03416-UNF  547-03416-UNF
M56*5.5 533-056-01 532-056-01 532-056-01 7/8-14UNF 537-07814-UNF ~ 538-07814-UNF  547-07814-UNF
M60*5.5 533-060-01 532-060-01 532-060-01 1-12UNF 537-01012-UNF  538-01012-UNF  547-01012-UNF

BSP/G NPT

“ m DT TN DT TN npl TN

G1/8*-28 535-0125-01 536-0125-01 545-0125-01 NPT1/16"X27 544-027-04 544-027-04R
G1/4-19 535-0250-01 536-0250-01 545-0250-01 NPT1/8" x 27 544-027-03 544-027-03R
G3/8*-19 535-0375-01 536-0375-01 545-0375-01 NPT1/4" x 18 544-018-02 544-018-02R
G1/2"-14 535-0500-01 536-0500-01 545-0500-01 NPT3/8"x18 544-018-33 544-018-33R
G5/8*-14 535-0625-01 536-0625-01 545-0625-01 NPT1/2" x 14 544-014-01 544-014-01R
G3/4™-14 535-0750-01 536-0750-01 545-0750-01 NPT3/4"x14 544-014-32 544-014-32R
G7/8*-14 535-0875-01 536-0875-01 545-0875-01 NPT1"x11.5 544-11D5-10 544-11D5-10R
G1™-11 535-1000-01 536-1000-01 545-1000-01 NPT1-1/4"x11.5 544-11D5-12 544-11D5-12R
G1-1/8°-11 535-1125-01 536-1125-01 545-1125-01 NPT1-1/2"x11.5 544-11D5-11 544-11D5-11R
G1-1/4"-11 535-1250-01 536-1250-01 545-1250-01 NPT2"X11.5 544-11D5-20 544-11D5-20R
G1-1/2"-11 535-1500-01 536-1500-01 545-1500-01 NPT2- 1/2"X8 544-008-21 544-008-21R
G1-3/4°-11 535-1750-01 536-1750-01 545-1750-01 NPT3"X8 544-008-30 544-008-30R
G2"-11 535-2000-01 536-2000-01 545-2000-01 NPT3-1/2"X8 544-008-32 544-008-32R
G2-1/2"-11 535-2500-01 536-2500-01 545-2500-01 NPT4"X8 544-008-40 544-008-40R
G3"-11 535-3000-01 536-3000-01 545-3000-01

I\
o700

INIW' WIDIAY Nan

14 nh.o WWW.MATARASO.CO.IL



Karmasch’

TiN 'o1¥n 0721 'nTN
DNNN NIYYNNA NI'01AN NINTPN YIN'YY

P2

Steel Stainless  Grey cast Alu Copper, Plastics
iron brass, tin  GRP/CRP

DNNN 07N nTm v”pn TanY oNIn
— . : = M3

20 1830 002 \ 20 1840 002

<
3
3

w90
20 1830 004 gmm 20 1840 004 M4
A
20 1840 006 M5
A 20 1840 010
| oo |
A | E——— PR, we
A
20 1840 030
20 1830 030 me
A 20 1840 035 M8

20 1830 040 20 1840 040 )
w90
20 1840 050 .

20 1830 050 v

A 20 1840 055 W10
20 1830 060 zmm 20 1840 060 )
A

20 1840 070
:

20 1830 070 A

20 1840 075 M 12
\ 2]

20 1830 090 !2 20 1840 090 V14

e

10700

WWW.MATARASO.CO.IL N WIDIAY 1¥an nho 15



Karmasch’

navp o'niTP? MINI-CUT nim nion
NIIT NINTENAL TINY DINTENA WIn'Y DMnin [liana

XN
Brbd T

@21-25mm =

Steel Stainless  Grey cast Copper, Plastics ~ Sandwich
iron brass, tin  GRP/CRP  materials

oo | v | BT T
21 1000 006 w97 211000 012 012 w128 211000 018 18 w165 211000 024 024 w227

211000 007 ° 7 w99 211000 013 e 13 w137 211000 019 e 19 w173 I 211000 025 025 w234

| 211000 008 o8 w102 | 211000 014 o014 w139 | 211000 020 020 w176

211000 009 o9 w112 211000 015 e15 w149 211000 021 021 w210

211000 010 e 10 w114 211000 016 e 16 w151 211000 022 022 w212

211000 011 o 11 w126 211000 017 017 w163 211000 023 023 w225

210002
@ 6-20mm 0177 72m

mp
»O«

9,5mm
3/8"

@6-20mm

210003

mp
»Oe

12,7 mm
172"

. @21-25mm

MINI-CUT vo

(n"ma nTn) niTn' 20

6,7,8,9, 10, 11,12, 13, 14, 15, 16,
17,18, 19, 20, 21, 22, 23, 24, 25

@ 6-20 mm 0nopE7 DXiN ' X1

@ 21-25 mm p1op7 orm ' x1
210002 72am x1

210003 72m x1

|7x nnon x1

vatn X1

I\
o700

16 nsb.o N WIDIAY 1¥an WWW.MATARASO.CO.IL



Karmmaschr’ BLUE- LINE

Vo G, @

Steel Stainless  Grey cast Alu Copper, Plastics ~ Hastelloy, Hardox
iron brass, tin GRP/CRP  Inconel, 400

exotic
materials

Weldon — 50mm | 2" q
T i =, N -

@6-12mm 4 -4 . -
M

e
=8mm = - & et

@13-16mm
=13mm

DRILL LINE DRILL—LINE DRILL LINE
20 1430 006 w258 20 1430 017 017 w689 20 1465 014 o 14 w875 20 1465 023 023 w1062

| 20 1430 008 o 8 w258 | 20 1430 018 18 | w699 | 201465015 15 = w875 | 201465024 e24 w1183

| 20 1430 010 e 10 w313 | 20 1430 019 e 19 w739 | 201465016 e 16 w908 | 201465 025 25 w1183

20 1430 011 o1 w352 20 1430 020 20 w767 201465017 17  m908 | 201465026 26 1339

20 1430 012 e12 w391 20 1430 021 021 w787 201465018 18  m908 | 201465027 @ 27 w1339

20 1430 013 13 | w481 20 1430 022 022 | w809 201465019 19 = m908 | 201465028 28 w1552

20 1430 014 o 14 w571 20 1430 023 23 w874 20 1465 020 20 w976 20 1465 030 ¢ 30 w1723

20 1430015 e15  m595 20 1430 024 024  mBY 201465021  o21 m976 | 201465032 32 w1860

20 1430 016 16 677 2014300275 275 w956 201465022 22 w1054
mniion NTEN A niyn Dy "NIon NN ' Nityn oy Amion NN
n~n 30 niTye pni1y n'n 40 niTyp pniy n~n 50 niTyp pni1y
AN NIO' 'S DY VAN NTpn 7 - nNTENn? 'wran nn 19 nap - J'onnn anTm? Y'wiainn nn 19 nyp -
201431 oxknn w1 6-12 oo - n'v1ANN .201435 ;1912 W' NIoY |'o 'Rt Wt -
201434 pxnn wim 13-16 oop - TI912 N NIO''D 'ATRY7 W' -
201435

DURABLUE n'vian nnTm"4 [ypv
20 1195 ;

Walden
. R
llllllﬂlﬂ!ﬂﬂlﬂllﬁﬂl

DURABLUE onin mp jyjpv
20 1795 i
= I

B
Illllﬂﬂllﬂ"ﬂllﬂllﬁﬂl

| 201195025 4 w318 | 201795050 w824
| 201195030 30 4 47 w376 | 201795060 50 14 150 MT3 1099
| 201195040 40 7 52 638 | 201795070 63 16 180 MT4 1831
| 201195055 55 9 60 w991 | 201795080 80 22 190 MT4 w3114
DURABLUE o o'nTim
4567 8 91011 12 201447 4 6 810121416 18 20 201448
|
2 CUTTING g 2 CUTTING
o 12 .18_.24 .
6,10.14 18 22 26 30 20 1449 151851 20 1450
69 69
2 CUTTING 2 CUTTING

10700

WWW.MATARASO.CO.IL I WIDIAY van no.u 17



Karmaschr'’

20 1710 nn 30 pniy? 3/4 " "mion NN

Il Weldon '|

30mm | 1"
< e
’ @ :ﬁ’l Q 2 V1V§m<:: - . A* Zmm

3/4"

Steel Stainless Greilyocnast Alu I;E?agfilrn GP'Iaaps/t&cRsP Wy ni7yn

<900N < 900N <10% Si

201710006 6 161

201710008 o8 w161 'Y TN 11207 D1V DNVEA DINTEN
| 201710010 010 w161 n'v1ANN ANTINY
| 201710011 o 11 w188

201710012 12 w188

201710013 013 w232

201710014 014 w232

201710015 e 15 w276

201710016 e 16 276

20 1860 N2V 2N YI7'nY UUpnn nTm

T —

Hexagon + cylindrical

201860010 o M3 25 10 38 3 w218 V2N 7700 WK N'O'R

201860020 o M4 33 14 46 4 w238 DT NINTENA YIN'YY TYIm &Y -
[ 201860030 o M5 42 19 50 5 w285
| 201860040 o M6 5 23 50 6 w334

201860050 o M8 6.8 78) 60 8 w431

201860060 o M10 85 25 80 10 w572

201860070 o M12 10.2 35 80 12 w855

&
<

10700

18 nsb.o N WIDIAY 1¥an WWW.MATARASO.CO.IL



Karmaschr GOLD-DRILLLINE

20 1260U n~n 30 pniy? HSS-XE 7170 nTyn
|
oo
Steel Stainless  Grey cast Alu Copper, Plastics Hardox
iron brass, tin  GRP/CRP 400, 450
201260u 012 o 12 w136 20 1260u 022 22 w201 20 1260u 035 35 w284 20 1260u 049 49 w529
201260u 013 = 13 w136 20 1260u 023 = 23 w201 201260u 036 36 w322 20 1260u 050 50 w565
|20 1260u 0135 13.5 w139 |20 1260u 024 24 w209 I 20 1260u 037 ¢ 37 w334 I 20 1260u 051 51 w565
201260u 014 = o 14 w140 20 1260u 025 25 w209 20 1260u 038 38 w359 20 1260u 052 52 w614
201260u 015 o 15 w140 20 1260u 026 26 w221 20 1260u 039 39 w359 20 1260u 053 53 w633
20 1260u 0155 e 15.5 w148 20 1260u 0265 26.5 w221 20 1260u 040 40 w394 20 1260u 054 e 54 w652
201260u 016 o 16 w151 20 1260u 027 27 w221 20 1260u 041 041 w394 20 1260u 055 55 w669
201260u 017 = o 17 w151 20 1260u 028 = 28 w246 201260u 042 e 42 w425 20 1260u 056 = e 56 w693
20 1260u 0175 e 17.5 w154 20 1260u 029 29 246 20 1260u 043 43 w425 20 1260u 057 57 w717
20 1260u 018 = o 18 w158 20 1260u 030 = 30 w258 20 1260u 044 = o 44 w467 20 1260u 058 e 58 w735
201260u 019 19 w158 20 1260u 031 31 w258 20 1260u 045 45 w467 201260u 059 59 w758
20 1260u 0195 o 19.5 w162 201260u 032 = 32 w269 20 1260u 046 o 46 w502 20 1260u 060 e 60 w781

201260u 020 20 m170 201260u 033 33 w269 201260u 047 47 w502
|20 1260u021 = o 21 w170 |20 1260u034 = o34 w284 201260u 048 48 w529

65477 mm Bl 20 1261

n'2 « QXN |'9

20 1270U nn 55 pniy'7 HSS-XE '71%n nTpm

s F 4T "= Iv L

Steel Stainless  Grey cast Alu Copper, Plastics Hardox
iron brass, tin  GRP/CRP 400, 450

201270u012 o 12 w172 201270u022 22 w238 201270u035 35  m358 201270u 049 49 w659
201270u 013 = 13 w172 201270u 023 = 23 w238 201270u036 = 36 = mA405 201270u050 = 50 = m744
[201270u0135 135 w175  [201270u024 24 w252  [201270u037 37 w421  [201270u051 €51 w744
201270u 014 o 14 w178 201270u025 = 25 w252 201270u038 = 38 = m447 201270u052 = 52 = m780
201270u015 o 15 w178 201270u026 26 w274 201270u039 39  m447 201270u 053 53 w805
201270u 0155 155 = m187 201270u 0265 265 = m274 201270040 = €40 | mA489 201270u 054 = o54 = m831
201270u016 16 w190 201270u 027  o27 w274 201270u041  e41  m489 201270u055 55  m854
201270u 017 = 17 w190 201270u 028 = 28 w299 201270u042 = 42 = w529 201270u056 = 56 = w880
201270u0175 o175 w193 201270u029 29 w299 201270u 043 43 w529 201270u057 57  m901
201270u 018 18 w197 201270u 030 = 30 w314 201270u 044 = 44 | w581 201270u 058 = 58 = w926
201270u 019 19 w197 201270u 031 31 w314 201270u045 45  m581 201270u 059 59  m947
201270u 0195 «19.5 = m201 201270u 032 = 32 w336 201270u046 = 46 = w625 201270u060 = 60 = m974
201270u020 20 w210 201270u 033 33 w336 201270u047 47 w625

|201270u 021 = o 21 w210 |201270u 034 = o34 w358  |201270u048 = €48 w659

6,34 X102 mm 20 1271

n'2 ¢ NN |'9

I\
1o7DD

WWW.MATARASO.CO.IL N WIDIAY A¥an ny.o 19



Karmmaschr’

GOLD-DRILLLINE

20 1285U nn 80 pniy?

FPodbgtT e

Steel Stainless ~ Grey cast Alu Copper,  Plastics Hardox
iron brass,tin  GRP/CRP 400, 450

201285u018 e 18 w411 201285u024 024 w516 201285u030 30 w611 201285u038

201285u019 e 19 w411 201285u025 25 w516 201285u032 032 w654 I 201285u040

HSS-XE '117n nTn

iz

| 2012850020 20 w429 | 201285u026 26 w534 | 201285u033 33 w654 | 201285u045
| 2012850021 = e 21 w429 | 2012850027 @ 27 w534 | 201285u034 €34 w760 | 201285u046

201285u022 022 w488 201285u028 e 28 w582 201285u035 35 w685 | 201285u050
201285u023 23 w488 201285u029 e 29 w582 201285u036 o 36 w775

20 1439

7,98 X130 mm

n¥'7n |'o

20 1280U n'n 110 iy

» P4 F 1*7IS N

Steel Stainless ~ Grey cast Alu Copper,  Plastics Hardox
iron brass,tin GRP/CRP 400, 450

38 w822
40 w900
e45 w1069
046 w825
e50 w1369

HSS-XE '117n nTpn

201280u021 021 w583 201280u027 027 m716 201280u035 035 m937
201280u022 022 w596 201280u028 e 28 w737 201280u036 ° 36 w1045
201280u023 23 w608 201280u029 29 m759 201280u038 038 w1124

798><160mm 201399
| w154 |

ﬁx"m |'o

I\
1o7DD

20 nsb.o N WIDIAY Y30

201280u018 e 18 w523 201280u024 024 w623 201280u030 30 w788 I 201280u040 e 40 w1240
201280u019 e 19 w536 201280u025 25 me37 201280u032 032 w878 | 201280u045 045 w1461
| 201280u020 20 w545 | 201280u026 ° 26 w701 | 201280u033 e 33 w897 | 201280u050 50 w1792

WWW.MATARASO.CO.IL



Karmaschr BLUE-DRILL LINE

20 1312 nn 30 iy DURABLUE 17n nTpn

3/4"
Steel Stainless  Grey cast Alu Copper, Plastics Hardox
iron brass, tin  GRP/CRP 400, 450

|20 1312 012 012 w201 |20 1312 026 26 w294 |2O 1312 040 040 w656

|20 1312013 e 13 w201 |20 1312 027 027 w294 |201312 041 o 41 w656 |20 1312 055 e 55 w1021
|20 1312014 14 w205 |20 1312 028 028 w318 |20 1312 042 042 w696 |20 1312 056 ¢ 56 w1047
201312015 e 15 w205 20 1312 029 029 w318 20 1312 043 043 w696 20 1312 057 ¢ 57 w1068
201312 016 e 16 w216 20 1312 030 ¢ 30 w330 20 1312 044 044 w748 20 1312 058 58 w1092
20 1312017 017 w216 201312 031 031 w386 20 1312 045 045 w748 20 1312 059 e 59 w1114
201312018 18 w223 20 1312 032 032 w408 20 1312 046 046 w791 20 1312 060 e 60 w1140

Weldon 30mm | 1"

|201312054 54 w998

201312 019 e 19 w223 201312 033 e 33 w408 20 1312 047 047 w791 20 1312 061 061 *
20 1312 020 20 w235 201312 034 034 w430 201312048 e 48 w826 20 1312 062 ° 62 *
201312 021 021 w235 201312 035 035 w430 20 1312 049 49 w826 20 1312 063 ° 63 *
20 1312 022 22 m267 20 1312 036 * 36 w478 20 1312 050 50 w911 20 1312 064 o 64 *

201312 023 023 m274 20 1312 037 037 w588 201312 051 e 51 w911
20 1312 024 024 w281 201312038 e 38 w614 20 1312 052 052 w946
|20 1312 025 25 w281 |20 1312 039 e 39 w614 |20 1312 053 53 w971

0,34 77 mm g I 20 1261
(1] T E257 ITAStaU T by b 3— —
n'2 « NX'7N |'9
20 1313 nn 55 pniy? DURABLUE 41%n nTpm
> _ Z e ]
N 2 Weldon '
19mm &
Steel Stainless  Grey cast Alu Copper, Plastics Hardox 34 |

iron brass, tin  GRP/CRP 400, 450

. o
20 1313 012 e 12 w238 20 1313 026 ° 26 w347 201313 040 040 w656 20 1313 054 e 54 w998

20 1313 013 e13 | w238 |201313027 27 w347  |201313041 41 w656 |201313055 55 @ w1021
20 1313 014 o14 w243 |201313028 28 w371 20 1313 042 42 w69 |201313056 56 w1047
|20 1313015 15 w243  |201313029 29 w371  |201313043 43 w69  |201313057 57 w1068
|20 1313 016 16 w255 [201313030 30 w386  |201313044 e44 w748 |201313058 58 w1092
20 1313 017 17 w255 201313031 31 w386  |201313045 e45 w748  |201313059 @ 59 w1114
20 1313 018 e18 w262 [201313032 32 w408 |201313046 46  m791 20 1313060 60 w1140
20 1313 019 19 w262 |201313033 33 = w408  |201313 047 47 w791
20 1313 020 20 w275 |201313034 34 w430 |201313048 048 w826
20 1313 021 21 w275 |201313035 35 = w430  |201313049 049 | w826
20 1313 022 22 w303 |201313036 36 w478  |201313050 50 w91
20 1313 023 023  m3M 201313037 37 w588 201313051 051 w911
20 1313 024 24 w325 [201313038 38 w614  |201313052 52 w946
|20 1313 025 e25 w325 |201313039 39 w614  |201313053 53 | w971

20 1271
LR .n"n 110 -1 nn 80 NIty 'ymIy7 n7n 18-50 vy DA PATAY N *

R T T T

n'2 « Nx*7N |'9

I\
1o7DD

WWW.MATARASO.CO.IL N WIDIAY 1¥an nho 21



HARD-LINE

Karmmaschr’

20 1315 n"n 40 pniy7 - "7 W 170 NTEN

40mm | 1.1/2"

(FE(, N @ 12-65 mm

N~ = XH) Weldon 19 mm | 3/4"

@ 66-120 mm

Steel  Stainless Grey cast Alu Copper, Plastics Hastelloy, Weldon 32 mm | 1.1/4"
iron brass, tin GRP/CRP Inconel,

exotic
materials

201315012 012 w301 I 20 1315 032 032 w399 I 20 1315 052 52 w696 I 20 1315072 072 w1114
201315013 013 w301 I 20 1315033 ¢33 w399 I 20 1315053 53 w716 I 20 1315073 073 w1128
201315014 o 14 w311 I 20 1315 034 034 w399 I 20 1315 054 e 54 w740 I 20 1315 074 o 74 w1141
20 1315015 e 15 w311 20 1315 035 035 w399 20 1315 055 e 55 w756 20 1315075 e75 w1150
20 1315016 16 w311 20 1315 036 36 w456 20 1315 056 e 56 w783 20 1315 076 e 76 w1220
20 1315017 017 w311 20 1315 037 e 37 w457 20 1315 057 57 w802 20 1315077 077 w1220
201315018 18 w311 20 1315 038 038 w457 20 1315 058 e 58 w816 20 1315078 e78 w1220
20 1315019 e 19 w311 20 1315 039 ¢ 39 w457 20 1315 059 e 59 w831 20 1315079 e79 w1220
20 1315 020 020 w311 20 1315 040 e 40 w457 20 1315 060 e 60 w845 20 1315 080 ¢80 w1234
20 1315021 21 w320 20 1315 041 o 41 w551 20 1315 061 e 61 w871 20 1315 085 e85 w1385
20 1315 022 022 w320 20 1315 042 042 w551 20 1315 062 e 62 w902 20 1315 090 ¢ 90 w1600
20 1315023 023 w320 20 1315 043 043 w551 20 1315 063 e 63 w935 20 1315 095 095 w1840
20 1315 024 024 w320 20 1315 044 044 w551 20 1315 064 e 64 966 20 13150100 ¢ 100 *
20 1315025 025 w320 20 1315 045 045 w551 20 1315 065 e 65 w997 20 13150105 e 105 *
20 1315 026 26 w338 20 1315 046 e 46 w592 20 1315 066 e 66 w994 20 13150110 e 110 *
20 1315 027 027 w338 20 1315 047 047 w592 20 1315 067 067 w1017 20 13150115 e 115 *
20 1315 028 028 w338 20 1315 048 048 w592 20 1315 068 e 68 w1038 2013150120 0120 *

| 20 1315029 029 w338 | 20 1315 049 049 w592 20 1315 069 e 69 w1053

20 1315030 30 w338 20 1315 050 50 w626 20 1315070 e 70 w1084

20 1315031 31 w399 20 1315 051 51 w680 20 1315 071 o71 w1114

n'2 n¥'7n |'o @ 12-17 mm | 20 1149 n' 2 px'n 1o @ 18-65 mm | 20 1151 n' 2 px'n |'o @ 66-120 mm| 20 1273

v

— T BT D 778 x 105 mm SN
| e — ey —— N S Ll ] —
AVAN

10700

22 nh.o I WIDIAY van WWW.MATARASO.CO.IL



Karmmaschr’

nn 55 pny'? - ar1T 2w 19N nTEN

o -
Fod An " \
— @12-60 mm = :
Steel Stainless  Grey cast Alu Copper,  Plastics ~ Hastelloy, Weldon 19 mm | 3/4" | _— b |
iron brass, tin  GRP/CRP |2§g?iil' @61-200 mm l - —
materials Weldon 32 mm | 1.1/4" \

| 201316012 012 w295 | 201316035 35 w380 | 201316062 ° 62 w857 | 201316100 100 w2031
| 201316013 e 13 w295 | 201316036 o 36 w433 | 201316063 ° 63 w889 | 201316103 103 m2201
| 201316014 o 14 w295 | 201316037 37 w434 | 201316064 o 64 w918 | 201316104 e 104  m2283
201316015 15 w295 201316038 e 38 w434 201316065 065 w948 201316105 105  m2363
201316016 016 w295 201316039 e 39 w434 201316066 © 66 w984 201316106 106 2446
201316017 o 17 w295 201316040 040 w434 201316067 ° 67 w1005 201316108 108 = m2542
2013160175 o175 w295 201316041 o 41 w523 201316068 ° 68 w1026 201316110 e 110 w2611
201316018 o 18 w295 201316042 042 w523 201316069 ° 69 w1042 201316115 o115 = m2933
201316019 19 w295 201316043 43 w523 201316070 70 w1073 201316120 120 w3268
201316020 020 w295 201316044 o 44 w523 201316071 o 71 w1085 201316125 o125 w3633
201316021 o 21 w304 201316045 045 w523 201316072 72 w1097 201316130 130 w3995
2013160215 0215 w304 201316046 ° 46 w563 201316073 73 w1113 201316135 135 w4360
201316022 022 w304 201316047 o 47 w563 201316074 74 w1132 201316140 0140 4750
201316023 023 w304 201316048 048 w563 201316075 75 w1143 201316145 o145 w5127
2013160235 0235 w304 201316049 049 w563 201316076 o 76 w1160 201316150 150 w5531
201316024 024 w304 201316050 e 50 w595 201316077 77 w1175 201316155 e 155 = m5567
201316025 25 w304 201316051 e 51 w646 201316078 78 w1191 201316160 160 w5633
| 2013160255 0255 w304 | 201316052 ®52 w661 | 201316079 79 w1204 | 201316165 165 w5712
201316026 026 w322 201316053 53 w681 201316080 80 w1222 201316170 e 170 w5787
201316027 o 27 w323 201316054 o 54 w704 201316082 082 w1302 201316175 o175 w5927
201316028 028 w323 201316055 e 55 w719 201316083 e 83 w1302 201316180 180 6096
201316029 029 w323 201316056 ° 56 w744 201316084 o84 w1347 201316185 ¢ 185 = m6265
201316030 e 30 w323 201316057 57 w762 201316085 e85 w1370 201316190 ¢ 190 w6435
201316031 o 31 w380 201316058 e 58 w776 201316088 e 88 w1511 201316195 195 w6604
201316032 032 w380 201316059 e 59 w790 201316090 90 w1585 201316200 200 w6772

| 201316033 ©33 w380 | 201316060 e 60 w804 | 201316092 ° 92 w1815

| 201316034 034 w380 | 201316061 e 61 w857 | 201316095 95 w1815

WPRYCHYI © 12-17.5 mm | 20 1271 n'2 nx'n o 0 18-60 mm | 20 1273

6,34 X102 mm

R L i —

WWW.MATARASO.CO.IL

AVAN

101

INIW' WIDIAY Nan

7,98 x 105 mm

n'2 nx'7n |'o @ 61-200 mm| 20 1272

7,98 X118 mm

ny.o 23



Karmmaschr’

20 1650 nn 80 pniy7 - ArT1 W 717N NN

Pod £

@ 14-60 mm

Steel Stainless Grey cast Alu Copper,  Plastics Hastelloy, Weldon 19 mm | 3/4
iron brass, tin  GRP/CRP  Inconel, @ 61-120 mm

exotic Weldon 32 mm | 1.1/4"

materials

201650014 o 14 w562 201650034 034 w739 201650054 ° 54 w1279 201 650075 e75 w2034
201650015 e 15 w562 201650035 035 w739 201650055 55 w1308 201650076 e 76 w2121

201650016 o 16 w562 201650036 * 36 w843 201650056 * 56 w1402 201650078 78 w2121

201650017 o 17 w562 201650037 37 w843 201650057 o 57 w1402 201650080 ¢ 80 w2174
201650018 e 18 w562 201650038 38 w843 201650058 58 1402 201650082 e 82 w2296
201650019 e 19 m562 201650039 39 w843 201650059 e 59 w1429 201650085 085 w2436
201650020 20 w562 201650040 40 w843 201650060 * 60 w1463 201650090 ¢ 90 w2732
201650021 021 m562 201650041 o 41 w1020 201650061 061 w1580 201650095 095 w3124
201650022 022 w562 201650042 042 w1020 201650062 ° 62 w1580 201650100 e 100 w3497
201650023 23 w562 201650043 043 w1020 201650063 ® 63 w1580 201650103 103 = m3687
201650024 024 w562 201650044 044 w1020 201650064 64 w1580 201650104 e 104 w3758
201650025 25 w562 201650045 045 w1020 201650065 ® 65 w1580 201650105 e 105 = m3829
201650026 ° 26 m612 201650046 046 w1163 201650066 ° 66 1826 201650106 e 106 w4207
201650027 27 me612 201650047 047 w1163 201650067 e 67 w1826 201650108 ¢ 108 = m4088
201650028 28 m612 201650048 048 w1163 201650068 68 w1826 201650110 e 110 4224
201650029 29 me612 201650049 49 w1163 201650069 ® 69 w1826 201650115 e 115 = 4580
201650030 e 30 m612 201650050 50 w1163 201650070 70 1826 201650120 e 120 w5104
| 201650031 031 m739 | 201650051 o571 w1248 | 201650072 72 w2034
201650032 032 m739 201650052 52 w1248 201650073 73 w2034
201650033 033 m739 201650053 53 w1248 201650074 o 74 w2034

PR I © 14-17 mm | 20 1302 PRI © 18-60 mm| 20 1427 PRI © 61-120 mm | 20 1428

| w154 | | w239 | | 268 |

6,34 X130 mm 7,98 X130 mm 798 X157 mm
R TN —

I\
1o7DD

24 nh.o I WIDIAY van WWW.MATARASO.CO.IL



Karmmaschr’

s POT (=l

Steel

Stainless  Grey cast Alu

iron

Copper,  Plastics
brass, tin  GRP/CRP

201660014 014 w715

Hastelloy,
Inconel,
exotic

materials

| 201660034

@ 14-55 mm
Weldon 19 mm | 3/4"

@ 56-120 mm
Weldon 32 mm | 1.1/4"

| 201660054

n'n 110 pny? - a1 2'w 190 NN

A 110 |

| 201660074

o34 w939 54 w1709 o74 w2732

| 201660015 e15 w715 | 201660035 35 w939 | 201660055 55 w1709 | 201660075 75 | w2782

| 201660016 16 w715 | 201660036 e36 w1075 | 201660056 56 w1871 | 201660076 o76 w2838
201660017 17 | w715 201660037 037 | w1075 201660057 57 | w1871 201660078 78 | w2918
201660018 18 w715 201660038 038 w1075 201660058 58 w1871 201660080 080 w2975
201660019 19 | w715 201660039 039 | w1075 201660059 59 | w1871 201660082 082 w3135
201660020 20 w715 201660040 040 w1075 201660060 60 w1871 201660085 e85 w3333
201660021 21 | w715 201660041 41 | w1298 201660061 o61 | m2219 201660090 090 w3861
201660022 22 w715 201660042 42 w1298 201660062 062 w2219 201660095 095 w4416
201660023 23 | w715 201660043 043 | w1298 201660063 063 | m2219 201660100 0100 w4947
201660024 24 w715 201660044 44 w1298 201660064 o64 w2219 201660103 0103 w5087
201660025 25 | w715 201660045 045 | w1298 201660065 065 | m2219 201660104 0104 | w5177
201660026 26 w779 201660046 046 w1479 201660066 066  m2465 201660105 0105 w5241
201660027 027 w779 201660047 047 w1479 201660067 067 | m2465 201660106 0106 = w5323
201660028 028 w779 201660048 048 w1479 201660068 068 w2465 201660108 «108 w5483
201660029 29 | w779 201660049 049 | w1479 201660069 069 | m2465 201660110 0110 | w5587
201660030 030 w779 201660050 50 w1479 201660070 70 w2610 201660115 o115 w6056

| 201660031 e31 | w939 | 201660051 e51 w1709 | 201660072 e72 | w2673 | 201660120 0120 w6748

| 201660032 032 w939 | 201660052 e52 w1709 | 201660073 73 w2704

| 201660033 033 | w939 | 201660053 e53 | w1709

n'2 « NX'7N |'o @ 14-17 mm 20 1304

| w170 |

6,34 X160 mm

T N L T A —

WWW.MATARASO.CO.IL

n'2 « nx'7n |'9 @ 18-55 mm | 20 1428

| w268 |

798 X157 mm 798 X168 mm

AVAN

101

INIW' WIDIAY Nan

n'2 « NX'7N |'o @ 56-120 mm 20 1486

| 300 |

ny.o 25



Karmmaschr’

Stainless

Steel

| 201665018

Grey cast Alu
iron

Copper,
brass, tin  GRP/CRP

Plastics Hastelloy,
Inconel,
exotic

materials

201665030 ¢ 30 w1280

@ 18-54 mm
Weldon 19 mm | 3/4"

@ 55-60 mm

Weldon 32mm|1.1/4" 4 @

| 201665042

n'n 150 iy - a1 'w 170 NN

Weldon

A— 150 | 529732

201665054

18 w1172 42 w2063 54 w2314
| 201665019 e19 w172 | 201665031 31 w1540 | 201665043 43 w2063 | 201665055 55 w2314
| 201665020 20 w1172 | 201665032 032 w1540 | 201665044 o44 w2063 | 201665056 o56 w2644
201665021 21 | wl172 201665033 033 | w1540 201665045 045 | w2063 201665057 o57 | m2644
201665022 022 w72 201665034 o34 w1540 201665046 046  m2348 201665058 058  m2644
201665023 23 | mwl172 201665035 035 | w1540 201665047 047 | m2348 201665059 e59 | m2644
201665024 024  wl172 201665036 036 w1761 201665048 048 w2063 201665060 o60 w2644
201665025 25 | wl172 201665037 037 w1761 201665049 049 | w2063
201665026 026 w1280 201665038 038 w1761 201665050 e50  m2063
201665027 027 | w1280 201665039 039 w1761 201665051 o51 w2314
201665028 028 w1280 201665040 040 w1761 201665052 052 w2314
| 201665029 029 w1280 | 201665041 e41 w2063 | 201665053 o53 | m2314

n'2 « N¥'N |'D © 18-19 mm | 20 1429

n'2 « NX'7N |'o @ 18-19 mm -

26 nh.o

7

,98 X160 mm

20 1399

I\
o1

INIW' WIDIAY Nan

n'2 « nydn o @ 20-54 mm | 20 1152

7,98 X205 mm

n'2 e« NX'7Nn |'s @ 55-60 mm -

20 1124

WWW.MATARASO.CO.IL



Karmmaschr’

F o 72

Ensy-cut /5

Shank
@ 14-69 mm =10 mm
@70-200 mm =13 mm

Y pnn Ni'niY Dy 01> NN

nn 15 pniy? nvonnny

Steel  Stainless Grey cast Alu Copper, Plastics Sandwich
iron brass, tin GRP/CRP materials
@14-150 mm = 1,8 mm
@ 155-200 mm = 2,0 mm
Cutting width
. Ejector spring
ETEETIET ETEETET TR TR
20 1020 014 e 14 w131 20 1020 038 38 w192 20 1020 062 ° 62 w302 20 1020 110 ¢ 110 w543
| 201020015 15 w131 | 201020039 39 w192 | 201020063 e 63 w302 | 201020115 o115 = w558
| 20 1020 016 e 16 w131 | 20 1020 040 040 w192 | 20 1020 064 o 64 w302 | 20 1020 120 0120 @570
201020 017 017 w131 20 1020 041 041 w211 20 1020 065 65 w302 201020 125 0125 w708
20 1020 018 18 w131 20 1020 042 042 w211 20 1020 066 ° 66 w322 20 1020 130 e130 w784
20 1020 019 19 131 20 1020 043 043 w211 20 1020 067 ° 67 w322 201020 135 e135 w866
20 1020 020 20 131 20 1020 044 e 44 211 20 1020 068 e 068 w322 20 1020 140 e 140 w972
20 1020 021 021 w149 20 1020 045 045 w211 20 1020 069 69 w322 20 1020 145 o145 w1078
20 1020 022 22 w149 20 1020 046 46 w225 20 1020 070 70 w322 20 1020 150 e150 w1216
20 1020 023 23 w149 20 1020 047 047 w225 20 1020 071 o 71 w358 20 1020 155 e 155 w1298
20 1020 024 024 w149 20 1020 048 48 w225 20 1020 072 072 w358 20 1020 160 e 160 1340
20 1020 025 25 w149 20 1020 049 049 w225 20 1020 073 e73 w358 20 1020 165 0165 w1381
20 1020 026 e 26 w157 20 1020 050 50 w225 20 1020 074 o 74 w358 201020 170 0170 m1423
20 1020 027 27 w157 20 1020 051 e 51 w254 20 1020 075 o75 w358 201020 175 0175 w1466
20 1020 028 28 157 20 1020 052 52 w254 20 1020 076 76 w377 20 1020 180 e 180 1508
20 1020 029 29 w157 20 1020 053 053 w254 20 1020 077 077 w377 20 1020 185 0185 w1581
20 1020 030 030 w157 20 1020 054 e 54 w254 20 1020 078 e78 w377 20 1020 190 ¢190 w1620
| 20 1020 031 e 31 w178 | 20 1020 055 55 w254 | 20 1020 079 e79 w377 201020 195 e 195 w1669
| 201020032 032 178 | 201020 056 * 56 w282 | 201020080 80 w377 | 201020 200 0200 w1712
20 1020 033 033 w178 20 1020 057 57 w282 20 1020 085 e85 w406
20 1020 034 034 w178 20 1020 058 e 58 w282 20 1020 090 90 w419
20 1020 035 35 w178 20 1020 059 59 w282 20 1020 095 095 w456
20 1020 036 e 36 w192 20 1020 060 © 60 w282 20 1020 100 ¢100 w480
20 1020 037 37 w192 20 1020 061 061 w302 20 1020 105 e 105 w514
AVAN

WWW.MATARASO.CO.IL

10700

INIW' WIDIAY Nan

ns.o 27



POWER-MAX
SUPER HEAVY-DUTY,

Karmmaschr’

20 1130 T o
1
P d 700 i

nn 30 pniy"?
Steel  Stainless Grey cast Alu Copper, Plastics Sandwich
iron brass, tin GRP/CRP materials

Shank
@14-150 mm
=13 mm

Also ideal
for drilling
into pipes

>«
4,0 mm
Cutting width

201130014 o 14 w326 201130038 038 w327 201130066 66 w555 201130098 098 w794

| 2011300145 = o145 w326 | 2011300385 @ €385 w327 | 201130067 67 w555 | 201130099 099 w794
| 201130015 15 w326 | 201130039 039 w327 | 201130068 068 w555 | 201130100 0100 w794
201130016 e16 w326 201130040 040 | w327 201130069 069 w555 201130105 0105 w892
2011300165 o165 w326 2011300405 405 w358 201130070 70 w555 201130110 o110 w1048
201130017 017 | w326 201130041 41 | w358 201130071 o71 | w593 201130115 o115 | m1227
201130018 e18 w326 201130042 042 w358 201130072 72 w593 201130120 0120 w1389
2011300185 = 185 w326 201130043 043 w358 201130073 73 w593 201130125 0125 w1542
201130019 19 w326 201130044 044 w359 201130074 74 w593 201130130 0130 w1692
201130020 20 | w326 201130045 o45 | w359 201130075 75 | w593 201130135 0135 w1859
2011300205 205 w326 201130046 046 w365 201130076 e76 w648 201130140 0140 w2029
201130021 021 w326 201130047 047 w365 201130077 77 | w648 201130145 0145 w2215
201130022 022 w326 201130048 048 w365 201130078 78 w648 201130150 0150 w2401
2011300225 = 225 w326 201130049 049 w365 201130079 79 | w648
201130023 023 w326 201130050 e50 w365 201130080 080 w648
201130024 024 w326 2011300505 = 505 w365 201130081 o81 w724
201130025 025 w326 201130051 e51 w365 201130082 082 w724
| 2011300255 = 255 w326 | 201130052 e52 w365 | 201130083 083 | w724
| 201130026 e26 w326 | 201130053 e53 w369 | 201130084 084 w724
201130027 027 w326 201130054 e54 w369 201130085 e85 w724
201130028 028 w326 201130055 e55 w369 201130086 086 w741
201130029 029 | w326 201130056 o56 | mi4d1 201130087 087 | w741
201130030 030 w326 201130057 e57 w44l 201130088 088 w741
2011300305 = 305 w327 201130058 e58 w441 201130089 089 w741
201130031 031  m327 201130059 059  m44f 201130090 90 w741
| 201130032 032 | w327 | 201130060 060 | m441 | 201130091 «91 w783
| 2011300325 325 w327 | 2011300605  e60.5 w481 | 201130092 92 w783
201130033 033 w327 201130061 o61 w487 201130093 093 w783
201130034 034 w327 201130062 062 w487 201130094 094 w783
201130035 035 | m327 201130063 063 | w487 201130095 095 w783
201130036 036 w327 201130064 064 w487 201130096 09 w794
201130037 037 | w327 201130065 065 | w487 201130097 097 w794
AVAN

10700

28 nsb.o N WIDIAY 1¥an WWW.MATARASO.CO.IL



. POWER-MAX
Karmmasch SUPER HEAVY-DUTY

20 1141 §’U‘;‘E'§E|’§;",‘¢_‘;l’,‘w NNN'YI NVOINIY? W”ENn NI'NIT7 DY 01D NIWN
n'n 55 iy
Vo d 200
‘—{Shank
@14-150 mm
=13mm

Steel Stainless Grey cast Al Copper, brass,  Plastics Sandwich
iron tin GRP/CRP materials

<1400N >900N > 10%Si

- |-

Also ideal
for drilling
into pipes

> <«
4.0 mm
Cutting width

201141014 014 w474 201141042 042 w519 201141070 e70 w819

| 201141015 o 15 w474 | 201141043 043 w521 | 201141071 o 71 w874

| 201141016 o 16 wA74 | 201141044 044 w521 | 201141072 °72 w874
201141017 017 w474 201141045 045 w521 201141073 °73 w874
201141018 018 w474 201141046 046 w530 201141074 o 74 w874
201141019 e 19 w474 201141047 047 w530 201141075 o75 w874
201141020 020 w474 201141048 048 w530 201141076 o 76 w952
201141021 021 w474 201141049 049 w530 201141077 °77 w952
201141022 022 w474 201141050 050 w530 201141078 o78 w952
201141023 023 w474 201141051 051 w530 201141079 o79 w952
201141024 024 w474 201141052 052 w530 201141080 080 w952
201141025 025 w474 201141053 053 w535 201141085 085 w1062
201141026 026 w474 201141054 054 w535 201141090 090 w1088
201141027 027 w474 201141055 055 w535 201141095 095 w1146
201141028 028 w474 201141056 056 w639 201141100 100 w1162

| 201141029 029 w474 | 201141057 057 w639 | 201141105 0105 w1293

[ 201141030 030 w474 | 201141058 e 58 w639 | 201141110 « 110 w1516
201141031 031 w475 201141059 o59 w639 201141115 o115 w1774
201141032 032 w475 201141060 060 w639 201141120 0120 w2008
201141033 033 w475 201141061 061 w720 201141125 0125 w2194
201141034 034 w475 201141062 062 w720 201141130 0130 w2407
201141035 035 w475 201141063 063 w720 201141135 0135 w2643
201141036 036 w475 201141064 064 w720 201141140 0140 w2884
201141037 037 w475 201141065 065 w720 201141145 0145 w3148
201141038 038 w475 201141066 066 w819 201141150 0150 w3412
201141039 039 w475 201141067 067 w819
201141040 040 w475 201141068 068 w819

| 201141041 041 w519 | 201141069 069 w819

AVAN

10700

WWW.MATARASO.CO.IL N WIDIAY A¥an ny.o 29



Karmmaschr’

EXZN i
j¢@é§@§

Steel Stainless

<T1400N > 900N

| 201025014

Grey cast
iron

Copper, brass,

>10%Si

o | v

Sandwich
materials

Plastics
GRP/CRP

| 201025027

o | v

Y pnn nifni? ny o NTn
VON'N M7 - NN 8 pniyY

Shank
Sechskant - Hex shank
6.3 mm 1/4"

014 w125 027 w141
| 201025015 015 w125 | 201025028 028 w152
| 201025016 016 w125 | 201025029 029 w152

201025017 017 w125 201025030 030 w152

201025018 o 18 w125 201025031 031 w169

201025019 019 w125 201025032 032 w169

201025020 020 w125 201025033 033 w169 o

201025021 021 w141 201025034 034 w169 Cutting width

201025022 022 w141 201025035 035 w169

201025023 023 w141 201025036 e 36 w183 ~._ Ejector spring

201025024 024 w141 201025037 037 w83 oy
| 201025026 026 w141 %i%

20 1150

Chipboard,

Soft wood,
hard wood,
exotic wood,
veneers

Bonded wood,
blockboard
and veneer

plywood,
laminated
wood

| 201150019

hard fibre

board, boards
without lami-

nate LOF,
MDF, HDF

o | _vmn

Chipboard,
hard fibre

plastic-coa-
tedfveneered,
MDF, HDF

GRP/CRP

Non ferrous  Fibre cement
metals like panel,
alu, copper, Eterit®,
brass, tin mineral/
glass wool,
Rockwool®,
Isover®

| 201150068

Mineral
material
Corian®,
Noblan®,
Hi-Macs®,
Staron®,
Rausolid®

o | v

Y”pnn ni'ni oy oid N
nn 60 pniy"

HPL (High-
Pressure-
Laminate)
Trespa®,
Resopal®

Also ideal for
drilling into pipes

> -
Cutting width
16-100 mm = 3.5 mm

e 19 w149 68 w179 102:127mm = 4.0 mm

| 201150022 020 w149 | 201150070 e 70 w179

[ 201150025 25 w149 [ 201150073 o73 w183 20 1167
201150027 027 w149 201150076 o 76 w204
201150030 30 w165 201150079 e79 w216
201150032 032 w165 201150083 83 w225 *9 5mm
201150035 035 w165 201150089 089 w234 el
201150038 38 w165 201150092 092 w255
201150040 040 w165 201150095 095 w262 oo e 20 1159
201150044 044 w165 201150102 102 w323
201150051 51 w165 201150108 o108 w354
201150054 54 w165 201150114 o114 w363 4()k
201150057 57 w165 201150121 o121 w395 11.0 mm
201150060 60 w165 | 201150127 = e127 w403 7/1e"
201150064 o 64 w169

AVAN

30 nh.o

10700

INIW' WIDIAY Nan

WWW.MATARASO.CO.IL



Karmmaschr’

«TH N

Steel Thiniron  Non ferrous Soft wood,
sheets, metals like hard wood,
sandwich alu, cop

exotic

Bonded  Chipboard, Chipboard,
wood, hard fibre' hard fibre

blockboard  board,

Plastics
GRP/CRP

BI-METALL COBALT

v 8% 70n-2 NTY9n o1 NIWN

Mineral  HPL (High- Fibre cerlnent

material  Pressure-

pane
Eternite

(AL

o

er, oard, ian® i
e P HoF oo Moevere. s
| 201500014 14 w35 | 201500 043 43 w68 | 201500076 76 w106 | 201500152 o152 w219
| 201500016 = o 16 w35 | 201500044 = o44 w69 | 201500079 79 w108 | 201500160 @ 160 = w254
| 201500017 17 w36 | 201500045 45 w70 | 201500080 80 w106 | 201500168 168 w266
201500019 = 19 w37 201500 046 = 46 w71 201500083 = 83 = mwi14 201500177 = o177 = w289
201500020 20 w39 201500 048 48 w71 201500086 86 w118 201500200 200 @312
201500021 = 21 w39 201500050 = 50 w73 201500089 = 89 = w122 201500210 210 = w375
201500022 @22 w41 201500051 51 w75 201500092 92 w126 201500220 220 w441
201500 024 = 24 w42 201500052 = 52 w77 201500095 95 = w132 201500233 233 w548
201500025 25 w43 201500 054 o 54 w80 201500098 98 w137 201500250 250 w595
201500 027 = 27 w45 201500055 = 55 w81 201500100 = 100 = w141 201500260 @260 = w666
201500028 28 w47 201500057 o 57 w82 201500102 o102 w144 201500265 265 w691
201500029 = 29 w49 201500059 = 59 w84 201500105 = o105 = w147 201500279 279 = w755
201500030 30 w51 201500060 60 w84 201500108 o108 w153 201500305 305 w835
| 201500032 = 32 w53 | 201500064 = 64 w86 | 201500 111 = o111 = w159
201500033 33 w55 201500065 65 w87 201500 114 o114 w161
201500035 = 35 w58 201500 067 = 67 w94 201500121 = o121 = w170 y .
| 201500037 37 w60 | 201500068 68 w95 | 201500127 127 w184 m Sy
| 201500038 = «38 w62 | 201500070 70 w98 | 201500133 | 133 @ w192 i
| 201500040 40 w64 | 201500073 73 w103 | 201500140 o140 @200
| 201500041 e 41 w65 | 201500075 @ 75 | w105 | 201500146 @ 146 = m208

n'xX'nwnY nion vo

17vY niod vo

68 mm

20 1501

NI 70N
@22, 29, 35, 44, 51, 64,

.0'P'tnn

20 1507 / 20 1521

SDS np o p'tnn

Y.

20 1502

NI0ID 72N

@19, 22, 29, 35, 38, 44,
51, 57, 64 mm

:D'P'TNN

20 1507 / 20 1521

nYIivn N2 o p'TNn

201510

sDS
PLUS
n

WWW.MATARASO.CO.IL

@ 32-210 mm | 20 1511

sDS
PLUS
=

‘i

01

20 1507

Q
9,5 mm
3/8"

INIW' WIDIAY Nan

Q
9,5 mm
3/8"

@ 32-210 mm | 20 1503

ny.o 31



Karmmaschr’

D'N"7vn D'ITAX

MT jp'7nn
A 1t "avn oy

20 1287

-
A

20 1289

hi

s 201310
-m1995

1

3/4-B16 10197 DkNn

20 1384
Weldon r j DIN 238
19 mm B16
3/4" J

B16 - MORSE2 1v197 nxnn

201515

IOTEE ) | MDIN238
TAPER B16

B16 - MORSE3 1v197 nxnn

20 1524

MORSE3 K d DIN 238
weer = K > Bi6

nan n9na MT 'thn
' 71127 "ayn Dy paxi 1'% aniT onod 1oty

- KA 20 1303
w1225

- EETIER- 20 1307
w1264

B16 no> 1-13 n'nTpn? Wi 'onIVIX Y019

20 1375

B16 nowd 1-13 n'nTjin? W019

20 1525

3/4 mp'1 n'n 75 Xn FEIN hnTpn? oxnn n'n 19 -7 nn 32 n) oxNn
20 1402 @12-17 mm [ 20 1263 @ 61-150 mm | 20 1386
f Weldon e
35mm 19 mm k 4 Weldon T Nitto/
3/4" Universal Weldon
Quick-In 4 Weldon
J—L_m_.l ;?4Tm 18 mm 19 ?/T 32mm

n'n 30 pniy7 7170 NTENY |'9 20 1396
nn 55 pniy7 7217n NN |'0 20 1411

AVAN

101

32 nsb.o N WIDIAY Y30

1.1/4"

WWW.MATARASO.CO.IL



Karmaschr NI'VIAN NINTN

KALP45 BLUE-MAG 208031010

178 n"n - NNTPNRN NaA
12-45 n"n - 71790 NTEN2 NITE NI
10-30 n"n - Vip'y nio
N7 nm™Man N
r 58 n"n - “mropn NITyE iy
E 1100 yin poon - WAT
[ a— - 450 170
T 227 n1ain j09Nn 57 NTnn no'on
% 63 n" - 0T/t Y
§ 1200 A" 01N N
E ..... 86x196 n"n 01N 7T

N7 220N 0'01 'Y
l— : 3 1 A" - 7pwn

e 3l0mmOveralilength —— 5]

KALP45 BLUE-MAG 208031010

12-35 n"n- NITyE NIO
10-30 n" - Vip'y nio
N77 nmMan N7
55 n" - “mropn NITyE iy
% 1100 vim poon - WAT
i 1000 2”7 van N
E X7 13IMon 0'01 1
10.5 A" - 7pwn

e 275 mmOvenllleng

[

KA40 BLUE-MAG 208021010

12-40 n"n - 7190 NTPN2 NITR NI
10-30 n"n - Yip'y nio
N7 nm™M2n N
x 110 n"n- nropn NITRE Iy
5 1100 vin poon - WAT
450 10
% 237 N1ain [09N 257 NTEnN No'on
170 n"n - a1/t
1100 2" V1A N
85x170 n"n 01N 7T
N7 12IM0N 0'01 'Y
1.5 A" - wn

e 20mmovenl length ]

I\
1o7DD

WWW.MATARASO.CO.IL N WIDIAY A¥an ny.o 33



Karmmaschr’

nroian niNnTEn

34

nh.o

9,610

12-50
10-40
N7
110
201n
1150
1-250 2-450
170
1250
85x180
N7
13

420-560 mm Overall height

KA50 BLUE-MAG 208023010

n"n - 7150 NN NIT'R NHO

n"n - vip'w nio
nmMan N7
n"n- "mopn NIT'E iy
1757 NTENN No'on
vin poon - WAT
170
n" - T/t e
A" LN N
n"n vian 7T
12INoN 0'01 'Y
A" pwn

12-50
10-40
N7
110
201n
1150
1-250 2-450
180
1250
85x170
360
13.5

430-570 mm Overall height

KAS50 BLUE-MAG 208024010

n"n - 7190 NTPN2 NITRE NI

n"n - vip'w nio
n™M2an N7
n"n- ‘nropn NITyE iy
1257 NTENN No'on
yin poon - WAT
170
n" - T/t e
A" LN N
n"n vian 7T
22IM0N 0'01 V'Y
A" - wn

12-55
10-40
M6-M20
110
2 00n
1250
1-100-250
2-180-450
195
1250
85x180
13

[¢———————————————————— 420560 mm Overall height

I\
1o7DD

INIW' WIDIAY Nan

KATV55-BLUE-MAG 208025010

n"n - 2190 NTPNA NIT'E NHO

n"n - YIip'y nio
n™M2n N1
n"n- "mropn NIT'Y Iy
237 NTPNRN no'on
v poon - WAT
11"70
21"0
n" - N /Ny Y
2" v1an N
n"n 01N 7T
A" - 7pwn

WWW.MATARASO.CO.IL



Karmmaschr’

430-570 mm Overall height

le—— 280mmoOverall length —— 5|

~
12-55
10-40

nroian ninTEn

@

KATSV55-BLUE MAG208026010

M6-M20
110
201n
1250
1-100-250
2-180-450
195
1250
85x180
360 ni7yn
185

n"n - 71790 NTPN2 NIT'R NIO

n"n - Y'Yy nio
NN N7
n"n- "“mropn NIT'y Iy
1257 NTENN No'on
vin poon - WAT
11"70
21"

n" - N/t Y
A" v1an Nd
n"n vian 772
22IMon 0'01 Y
A" - pwn

480-690 mm Overall height

e 3%0mmoOvenalilength —— 5]

12-100
10-55
N7
200
30n
1700
1-110 2-175 3-245 4-385
255
2050
102x212
N7
21

KA100 BLUE-MAG 208027010

n"n - 7150 NN NIT'R NNO

n"n - Vip'w nio
nmMan N7
n"n- "mropn NIy Iy
257 NTEnn no'on
vin poon - WAT
170
n" - T/t e
A" 01an N
n"n vian 77
12INoN 0'01 'Y
A" - wn

556-857 mm Overall height

WWW.MATARASO.CO.IL

\
le— ssommoveralllengh —— 5|

KATV140-BLUE-MAG 208032010

12-140
10-80
M6-M44
240
4 00
2300
1-30-80
2-50-120
3-130-350
4-210-550
320
2675
120x240
N77
85

I\
1o7DD

INIW' WIDIAY Nan

n"n - 7190 NTPN2 NITR NI

n"n - Yip'y nio
nmMan N7
n"n- nopn NIy iy
237 NTPNN no'on
vin poon - WAT
11"720
210
31"
41"

n"n - N /Nty Y
A" 01N N
n"n 01N 7T
22IMoN 0'01 V'Y
A" - 7pwn

ns.o 35



Karmmaschr’

nJ'o "Inin

NN 173 N IR DX DDMINNA ,NAN07 DINITT WU YW 10N nin
(n'700 nTIAY N210) DA DMIX D'NITET AN T D' K77 NINTENY? Apva nrTvimi

071N 0'NTENY MNP NNYN
60 1159 D 125

Universal cutting-paste
chlorine free / silicone free

601159 hrl 125 w120

2101 ,TNAN ,NITRY NNy Ofl
60 1200 =2 350 n1odI

n winLsermizRwacHS [T RUMLSCHMIER AT 15

601200 Rr 350 w220

n™217n 0'NTENY MNP NNYN
60 1157 D72 750

750 g

Universal cutting-paste

chlorine free /
silicone free

601157 n 750 w295

21 0001 D22V '12'9Y 'V1AN LIN

36 nh.o

WWW.MATARASO.CO.IL



GSRA awpen 0o

HSS-CO -1 HSS n'nTjm vo

/ n*190n 0o
| WS | Hss<O DIN 338

BRB08343100 - m185 BRB08347100 - m720 19-pcs 0.5 1-10
BRB08343300 - m422 BRB08347300 - m1150 25-pcs 0.5 1-13
BRB08343400 - m309 BRB08347400 - m850 50-pcs 0.1 1-5.9
BRB08343500 - m669 BRB08347500 - m1800 41-pcs 0.1 6-10

M3-M12 hxdn 'nTjni X2 'Tan anip vo

L m on

w360 HSS BRB08303017
w390 HSS-CO BRB09100100

HSS 90° | 3 ypw

017 opn

w27 4.3 04042043
w29 6.3 04042063
w34 8 04042080
w37 10.4 04042104
w48 12.4 04042124
me7 16.5 04042165
m92 20.5 04042205
w130 25 04042250
w188 30 04042300
w320 40 04042400
w330 n' 6 vo B08333400
w380 TIN n' 6 vo B08333410

HSS-CO 90 717n |ypw

017 [ nito opn

me7 6 (2-5) B04041006
m99 21 (10-15) B04041021
w172 28 (15-20) B04041028
w295 32 (15-25) B04041035
w580 n'4 vo BRB04041000

I\
1o7DD

WWW.MATARASO.CO.IL N WIDIAY 1¥an nho 37



(EE;SEE;E::a 1!!§ n'oo

a%1wn ™2an NTM Vo
M3 /M4 /M5/ M6/ M8/ M10

00708020 v

M3-M12 nipinnni o'Tan vo
n' 45

08331030 V"M

M3-M20 nipinnni 0'm™an vo
'n' 56

08331040 v”m

e o
) FpL I R .

M3-M24 nipinnni o'tan vo

08331050 V"M

10700

38 nh.o N WIDIAY 1¥an WWW.MATARASO.CO.IL



GSRA

DIN 338 v'7ai To0"n 'nTiNn

0.5 03445005 - m15 03447005 -rv 27 53 03445053 - m18 03447053 - m33 10.1 03445101 - m81 03447101 - m136
0.6 03445006 - m15 03447006 - m27 54 03445054 - w20 03447054 - m35 10.2 03445102 - m81 03447102 - m136
0.7 03445007 - m14 03447007 - m25 5.5 03445055 - w19 03447055 - m39 10.3 03445103 - w81 03447103 -

0.8 03445008 - m14 03447008 - m23 5.6 03445056 - w20 03447056 - m35 10.4 03445104 - m81 03447104 - m180
0.9 03445009 - m14 03447009 - m23 5.7 03445057 - m20 03447057 - m35 10.5 03445105 - m56 03447105 - m125
1 03445010 - m13 03447010 - m21 5.8 03445058 - w20 03447058 - m35 10.6 03445106 - w81 03447106 - m230
1.1 03445011 - m14 03447011 - m23 5.9 03445059 - m20 03447059 - m35 10.7 03445107 - m85 03447107 -

1.2 03445012 - m14 03447012 - m23 6 03445060 - m18 03447060 - m37 10.8 03445108 - m85 03447108 -

1.3 03445013 - m14 03447013 - m23 6.1 03445061 - m22 03447061 - m43 10.9 03445109 - m85 03447109 - m252
1.4 03445014 - m14 03447014 - m21 6.2 03445062 - m22 03447062 - m43 1 03445110 - w65 03447110 - w134
1.5 03445015 - w10 03447015 - w19 6.3 03445063 - m22 03447063 - m43 1.1 03445111 - w96 03447111 - w252
1.6 03445016 - m10 03447016 - m23 6.4 03445064 - m22 03447064 - m43 1.2 03445112 - w96 03447112 -

1.7 03445017 - m10 03447017 - m23 6.5 03445065 - m20 03447065 - m41 1.3 03445113 - w96 03447113 - w294
1.8 03445018 - 10 03447018 - m23 6.6 03445066 - m24 03447066 - w46 1.4 03445114 - m96 03447114 - m294
1.9 03445019 - m10 03447019 - m23 6.7 03445067 - m24 03447067 - m46 1.5 03445115 - w70 03447115 - w185
2 03445020 - m9 03447020 - m18 6.8 03445068 - m26 03447068 - m50 11.6 03445116 - w102 03447116 -

2.1 03445021 - w10 03447021 - w24 6.9 03445069 - w26 03447069 - w50 1.7 03445117 - w102 03447117 -

2.2 03445022 - m10 03447022 - m23 7 03445070 - m24 03447070 - m44 11.8 03445118 - w102 03447118 - w294
2.3 03445023 - m10 03447023 - m23 71 03445071 - m30 03447071 - m58 1.9 03445119 - w105 03447119 -

24 03445024 - w10 03447024 - m23 7.2 03445072 - w30 03447072 - w58 12 03445120 - m81 03447120 - m190
2.5 03445025 - m9 03447025 - m19 7.3 03445073 - m30 03447073 - m58 12.1 03445121 - w135 03447121 -

2.6 03445026 - m10 03447026 - m23 7.4 03445074 - m30 03447074 - m58 12.2 03445122 - m135 03447122 - m315
2.7 03445027 - w10 03447027 - m24 7.5 03445075 - m27 03447075 - m47 12.3 03445123 - m135 03447123 -

2.8 03445028 - m10 03447028 - m24 7.6 03445076 - m34 03447076 - w68 12.4 03445124 - m135 03447124 -

2.9 03445029 - m10 03447029 - m24 7.7 03445077 - m34 03447077 - m68 12.5 03445125 - m83 03447125 - m231
3 03445030 - m9 03447030 - m19 7.8 03445078 - w34 03447078 - m68 12.6 03445126 - m154 03447126 -

3.1 03445031 - m10 03447031 - m22 7.9 03445079 - m34 03447079 - w68 12.7 03445127 - m154 03447127 - m315
3.2 03445032 - m10 03447032 - m22 8 03445080 - m30 03447080 - m57 12.8 03445128 - m154 03447128 - m315
3.3 03445033 - w10 03447033 - m22 8.1 03445081 - w40 03447081 - m74 12.9 03445129 - m154 03447129 -

3.4 03445034 - w11 03447034 - m25 8.2 03445082 - w40 03447082 - m74 13 03445130 - m93 03447130 - m220
3.5 03445035 - m10 03447035 - m21 8.3 03445083 - m40 03447083 - m74 13.5 03445135 - m147 03447135 - m285
3.6 03445036 - m12 03447036 - m27 8.4 03445084 - w40 03447084 - m74 14 03445140 - m159 03447140 - m335
3.7 03445037 - w12 03447037 - m27 8.5 03445085 - m35 03447085 - m60 14.5 03445145 - m205 03447145 - m399
3.8 03445038 - w13 03447038 - m28 8.6 03445086 - w45 03447086 - m84 15 03445150 - m191 03447150 - m420
3.9 03445039 - m13 03447039 - w28 8.7 03445087 - m45 03447087 - m84 15.5 03445155 - m243 03447155 - m462
4 03445040 - m10 03447040 - m24 8.8 03445088 - w45 03447088 - m84 16 03445160 - m227 03447160 - m500
4.1 03445041 - w13 03447041 - m27 8.9 03445089 - w45 03447089 - m84

4.2 03445042 - m13 03447042 - m27 9 03445090 - w39 03447090 - m73

4.3 03445043 - m14 03447043 - m28 9.1 03445091 - w49 03447091 - m110

4.4 03445044 - m14 03447044 - m28 9.2 03445092 - w49 03447092 - 110

4.5 03445045 - w12 03447045 - m29 9.3 03445093 - m49 03447093 - w110

4.6 03445046 - m15 03447046 - m31 9.4 03445094 - w49 03447094 - w110

4.7 03445047 - m15 03447047 - m31 9.5 03445095 - m44 03447095 - m89

4.8 03445048 - w16 03447048 - w32 9.6 03445096 - m57 03447096 - w120

4.9 03445049 - m16 03447049 - m32 9.7 03445097 - m57 03447097 - m120

) 03445050 - m14 03447050 - m30 9.8 03445098 - m57 03447098 - m120

5.1 03445051 - w18 03447051 - 33 9.9 03445099 - m57 03447099 - w120

5.2 03445052 - m18 03447052 - m33 10 03445100 - w48 03447100 - m86

WWW.MATARASO.CO.IL

‘i

01

INIW' WIDIAY Nan

ny.o 39



GSRA

vaIp1 T'90"N I NI D'NTIN

D] Hss | HSS-CO Lo Hss | HSS-CO

13x101x182 03463130 - m164 03464130 - m306 39.5x200x349 03463395 - m1548 034643395 -
13.5x108x189 03463135 - m173 03464135 - m323 40x200x349 03463400 - w1548 03464400 - w2762
14x108x189 03463140 - m182 03464140 - m340 40.5x205x354 03463405 - m1593 03464405 -
14.5x114x212 03463145 - m182 03464145 - m357 41x205x354 03463410 - m1639 03464410 -
15x114x212 03463150 - m182 03464150 - m357 41.5x205x354 03463415 - m1684 03464415 -
15.5x120x218 03463155 - m191 03464155 - m374 42x205x354 03463420 - w1730 03464420 -
16x120x218 03463160 - m191 03464160 - m374 42.5x205xx354 03463425 - m1775 03464425 -
16.5x125x223 03463165 - m200 03464165 - m390 43x210x359 03463430 - m1821 03464430 -
17x125x223 03463170 - m209 03464170 - m390 43.5x210x359 03463435 - w1848 03464435 -
17.5x130x228 03463175 - m228 03464175 - w442 44x210x359 03463440 - m1866 03464440 -
18x130x228 03463180 - m228 03464180 - m442 44.5x210x359 03463445 - m1912 3464445
18.5x135x233 03463185 - m255 03464185 - m459 45x210x359 03463450 - w1957 03464450 - w3629
19x135x233 03463190 - m264 03464190 - m459 45.5x215x364 03463455 - m1985 03464455 -
19.5x140x238 03463195 - m291 03464195 - m510 46x215x364 03463460 - w2030 03464460 -
20x140x238 03463200 - m291 03464200 - m510 46.5x215x364 03463465 - w2094 03464465 -
20.5x145x243 03463205 - m310 03464205 - m535 47x215x364 03463470 - m2185 03464470 -
21x145x243 03463210 - m319 03464210 - m535 47 .5x215x364 03463475 - m2276 03464475 -
21.5x248x150 03463215 - m355 03464215 - m586 48x220x369 03463480 - w2367 03464480 -
22x150x248 03463220 - m355 03464220 - m586 48.5x369x220 03463485 - m2458 03464485 -
22.5x155x253 03463225 - 401 03464225 - m697 49x220x369 03463490 - w2549 03464490 -
23x155x253 03463230 - m419 03464230 - m697 49.5x220x369 03463495 - w2640 03464495 -
23.5x155x276 03463235 - m437 03464235 - m710 50x220x369 03463500 - w2731 03464500 - m4655
24x160x281 03463240 - m446 03464240 - m710 51x225x412 03463510 - m3642 03464510 -
24.5x160x281 03463245 - m473 03464245 - m852 52x225x412 03463520 - m3824 03464520 -
25x160x281 03463250 - m501 03464250 - m852 53x225x412 03463530 - m3933 03464530 -
25.5x165x286 03463255 - m528 03464255 - m915 54x230x417 03463540 - m4097 03464540 -
26x165x286 03463260 - m546 03464260 - m915 55x230x417 03463550 - w4188 03464550 - w9468
26.5x265x286 03463265 - m546 03464265 - m970 56x230x417 03463560 - m4479 03464560 -
27x170x291 03463270 - m564 03464270 - m970 57x235x422 03463570 - m4643 03464570 -
27.5x170x291 03463275 - m601 03464275 - w1065 58x235x422 03463580 - w4916 03464580 -
28x170x291 03463280 - m610 03464280 - m1065 59x235x422 03463590 - m5371 03464590-
28.5x175x296 03463285 - m674 03464285 - m1112 60x235x422 03463600 - w5572 03464600 - m11835
29x175x296 03463290 - m683 03464290 - m1112
29.5x175x296 03463295 - m701 03464295 - m1144
30x175x296 03463300 - m710 03464300 - m1144 n ﬂ
30.5x180x301 03463305 - m747 03464305 - w1704 {
31x180x301 03463310 - m765 03464310 - m1704 |
31.5x180x301 03463315 - m847 03464315 - w1704
32x185x334 03463320 - m874 03464320 - w1704
32.5x185x334 03463325 - m947 03464325 - m1941 ‘-::
33x185x334 03463330 - m947 03464330 - m1941 :./
33.5x185x334 03463335 - w1038 03464335 - &
34x190x339 03463340 - m1038 03464340 - m2036 F r F
34.5x190x339 03463345 - w1092 03466345 - =
35x190x339 03463350 - w1092 03464350 - w2036 = 9
35.5x190x339 03463355 - m1202 03464355 - ;".
36x195x344 03463360 - m1202 03464360 - m2462 Q
36.5x195x344 03463365 - m1411 03464365 -
37x195x344 03463370 - m1411 03464370 - m2462
37.5x195x344 03463375 - w1438 03464375 - y
38x200x349 03463380 - w1438 03464380 - w2462 &
39x200x349 03463390 - m1493 03464390 - m2762
AVAN
40 no.o Igwmmuwmn WWW.MATARASO.CO.IL




GSRA

M /UNC /UNF /NPT /BSP/BSW 2T n'Tian vo

M1

M 1,1
M1,2
M 1,4
M1,6
M1,7
M1,8
M2

M2,2
M2,3
M2,5
M 2,6
M3

M 3,5
M4

M 4,5
M5

M6

M7

M8

M9

M 10
M 12
M 14
M 16
M 18
M 20
M 22
M 24
M 27
M 30
M 33
M 36
M 39
M 42
M 45
M 48
M 52
M 56
M 60

NPT
NPT 1/16-27
NPT 1/8-27
NPT 1/4-18
NPT 3/8-18
NPT 1/2-14
NPT 3/4-14
NPT 1-11,5
NPT 1.1/4-11,5
NPT 1.1/2-11,5
NPT 2-11,5
NPT 2.1/2-8
NPT 3-8
NPT 3.1/2-8
NPT 4-8

_ o-pn | __ann

00105010
00105020
00105030
00105040
00105050
00105060
00105070
00105080
00105090
00105100
00105110
00105120
00105130
00105140
00105150
00105160
00105170
00105190
00105200
00105210
00105220
00105230
00105250
00105260
00105270
00105280
00105290
00105300
001056310
001056320
00105330
00105340
00105350
00105360
00105370
00105380
00105390
00105400
00105410
00105420

00181010
00181020
00181030
00181040
00181050
00181060
00181070
00181080
00181090
00181100
00181110
00181120
00181130
00181140

WWW.MATARASO.CO.IL

w79
w79
w79
w79
w79
w79
w79
w62
w62
w62
w62
w62
w36
w55
w36
w59
w39
w46
w97
w63
w110
w71
w95
w149
w173
w250
w266
w366
w416
w520
1081
w1099
w1497
w1774
w2101
2465
w3028
w3784
w5109
w6843

w732
w946
1087
1342
1610
w1980
w3034
7014
w9764
12526
22040
28414
39704
47813

| __UNc__ | o | o

UNC Nr. 4
UNC Nr. 5
UNC Nr. 6
UNCNr. 8
UNC Nr. 10
UNC Nr. 12
UNC 1/4
UNC 5/16
UNC 3/8
UNC 7/16
UNC 1/2
UNC 9/16
UNC 5/8
UNC 3/4
UNC 7/8
UNC 1
UNC 1.1/8
UNC 1.1/4
UNC 1.3/8
UNC 1.1/2

|__BsP__ | uqm | ann

BSP 1/8
BSP 1/4
BSP 3/8
BSP 1/2
BSP 5/8
BSP 3/4
BSP 7/8
BSP 1
BSP 1.1/8
BSP 1.1/4
BSP 1.3/8
BSP 1.1/2
BSP 1.5/8
BSP 1.3/4
BSP 2
BSP 2.1/4
BSP 2.1/2
BSP 2.3/4
BSP 3
BSP 3.1/4
BSP 3.1/2
BSP 3.3/4
BSP 4

00165040
00165050
00165060
00165080
00165100
00165120
00165130
00165140
00165150
00165160
00165170
00165180
00165190
00165210
00165230
00165250
00165260
00165270
00165280
00165290

00155020
00155060
00155080
00155100
00155120
00155130
00155140
00155150
00155170
00155180
00155190
00155200
00155210
00155220
00155230
00155240
00155250
00155260
00155270
00155280
00155290
00155300
00155310

v plhlp)

INIW' WIDIAY NNan

106
65
65
70
70
w83
w69
w96

w108

w144

144

w253

w322
w457
w551
w709
w940
w1624
w2191
w2530

w122
w122
w122
168
w270
w265
w541
w600
w882
1093
w1151
1284
w1508
w1594
w2072
w2590
w3313
12396
11417
22833
22833
26910
26910

| UNF | oepn | ann

UNF Nr. 4
UNF Nr. 5
UNF Nr. 6
UNF Nr. 8
UNF Nr. 10
UNF Nr. 12
UNF 1/4

UNF 5/16
UNF 3/8

UNF 7/16
UNF 1/2

UNF 9/16
UNF 5/8

UNF 3/4

UNF 7/8

UNF 1 (12)
UNF 1.1/8
UNF 1.1/4
UNF 1.3/8
UNF 1.1/2

00175040
00175050
00175060
00175080
00175100
00175120
00175130
00175140
00175150
00175160
00175170
00175180
00175190
00175210
00175230
00175260
00175270
00175280
00175290
00175300

w85
w51
w51
w51
w65
66
w56
w78
w89
w117
w117
w204
w217
w307
w369
w474
w725
w1083
1461
w1687

| Bsw | vegn | i

BSW 1/16
BSW 3/32
BSW 1/8
BSW 5/32
BSW 3/16
BSW 7/32
BSW 1/4
BSW 5/16
BSW 3/8
BSW 7/16
BSW 1/2
BSW 9/16
BSW 5/8
BSW 3/4
BSW 7/8
BSW 1
BSW 1.1/8
BSW 1.1/4
BSW 1.3/8
BSW 1.1/2
BSW 1.5/8
BSW 1.7/8
BSW 2

00135010
00135020
00135030
00135040
00135050
00135060
00135070
00135080
00135090
00135100
00135110
00135120
00135130
00135140
00135150
00135160
00135170
00135180
00135190
00135200
00135210
00135230
00135240

w125
w125
w58
w58
w63
w75
w75
w104
117
156
156
272
w347
w616
w743
w912
1088
w2030
2738
w3163
w3864
w5928
w5494

n5.0

41



GSR J\k MF 27 n'Tan vo
| MF | | MF_ | | MF_|

MF 2,5x 0,35 00115150 w81 MF 17 x 0,75 00115780 w285 MF 34 x 1 00122410 w1411
MF 2,6 x 0,35 00115160 m81 MF 17 x 1 00115790 w285 MF 34 x1,5 00122420 w1411
MF 2x0,25 00115170 w81 MF 17 x 1,5 00115800 w285 MF 34 x 2 00122430 w1411
MF 2 x 0,35 00115180 w81 MF 17 x 2 00115810 w285 MF 34 x 3 00122440 w1411
MF 3x0,35 00115200 w34 MF 18 x 0,5 00115820 w285 MF 35 x 1 00122450 w1411
MF 3,5 x 0,35 00115220 w41 MF 18 x 0,75 00115830 w285 MF 35x 1,5 00122460 w1411
MF 4 x 0,35 00115230 w34 MF 18 x 1 00115840 w237 MF 35x2 00122470 w1411
MF 4 x 0,5 00115240 w34 MF 18 x 1,25 00115850 w237 MF 35x 3 00122480 w1411
MF 4,5 x 0,35 00115250 w44 MF 18 x 1,5 00115860 w237 MF 36 x 1 00122490 w1411
MF 4,5x0,5 00115260 w44 MF 18 x 2 00115870 w237 MF 36 x1,5 00122500 w1411
MF 5 x 0,35 00115270 44 MF 19 x 1 00115880 w341 MF 36 x 2 00122510 w1411
MF 5x 0,5 00115280 w37 MF19x1,5 00115900 w341 MF 36 x 3 00122520 w1411
MF 5x0,75 00115290 w44 MF 20 x 0,5 00115910 w341 MF 38 x 1 00122530 w1673
MF 5,5x 0,5 00115300 w52 MF 20 x 0,75 00115920 w341 MF 38 x 1,5 00122540 w1673
MF 5,5x 0,75 00115310 w52 MF 20 x 1 00115930 w284 MF 38 x 2 00122550 w1673
MF 6 x 0,5 00115320 w52 MF 20 x 1,25 00115940 w284 MF 38 x 3 00122560 w1673
MF 6 x 0,75 00115330 w44 MF20x1,5 00115950 w284 MF39x1,5 00122570 w1673
MF 7 x0,5 00115350 n72 MF 20 x 2 00115960 w284 MF 39 x 2 00122580 w1673
MF 7 x 0,75 00115360 w72 MF 21 x 1 00115980 w347 MF 39 x 3 00122590 w1673
MF 8x0,5 00115380 n72 MF 21 x1,5 00122000 w347 MF 40 x 1 00122600 1981
MF 8 x 0,75 00115390 w60 MF 22 x 0,5 00122010 w416 MF 40x 1,5 00122610 w1981
MF8x1 00115400 w60 MF 22 x 0,75 00122020 w416 MF 40 x 2 00122620 1981
MF8x1,5 00115410 w60 MF 22 x 1 00122030 w347 MF 40 x 3 00122630 w1981
MF9x0,5 00115420 w83 MF 22 x 1,25 00122040 w347 MF 42 x 1,5 00122640 1981
MF 9x0,75 00115430 w83 MF 22 x1,5 00122050 w347 MF 42 x 2 00122650 w1981
MF9x1 00115440 w83 MF 22 x 2 00122060 w347 MF 42 x 3 00122660 1981
MF 10x0,5 00115450 w83 MF 23 x 1 00122070 w472 MF 42 x 4 00122670 w1981
MF 10 x 0,75 00115460 m83 MF 23 x 1,5 00122080 w472 MF 45 x 1 00122680 w2325
MF10x 1 00115470 69 MF 24 x 0,5 00122090 w472 MF 45x1,5 00122690 w2325
MF 10x 1,25 00115480 w69 MF 24 x 0,75 00122100 w472 MF 45 x 2 00122700 w2325
MF 11x0,5 00115490 m109 MF 24 x 1 00122110 w393 MF 45x 3 00122710 w2325
MF 11 x 0,75 00115500 w109 MF 24 x 1,25 00122120 w393 MF 45 x 4 00122720 2325
MF 11 x 1 00115510 w109 MF 24 x 1,5 00122130 w393 MF 48 x 1 00122730 w2856
MF 11 x 1,25 00115520 w109 MF 24 x 2 00122140 w393 MF 48 x 1,5 00122740 2856
MF 12x0,5 00115530 w109 MF 25 x 1 00122150 w589 MF 48 x 2 00122750 w2856
MF 12 x 0,75 00115540 w109 MF 25x 1,5 00122170 w589 MF 48 x 3 00122760 2856
MF 12 x1 00115550 w90 MF 25 x 2 00122180 w490 MF 48 x 4 00122770 w2856
MF 12 x 1,25 00115560 w90 MF 26 x 1 00122190 w490 MF 50 x 1 00122780 w3569
MF12x15 00115570 w90 MF 26 x 1,25 00122200 w490 MF50x1,5 00122790 w3569
MF 13x0,5 00115580 w170 MF 26 x1,5 00122210 w490 MF 50 x 2 00122800 w3569
MF 13 x 0,75 00115590 w170 MF 26 x 2 00122220 w490 MF 50 x 3 00122810 w3569
MF 13x1 00115600 w170 MF 27 x 1 00122230 w589 MF 50 x 4 00122820 w3569
MF 13x 1,25 00115610 w170 MF 27 x 1,5 00122240 w589 MF 52 x 1 00122830 w3569
MF 13x 1,5 00115620 w170 MF 27 x 2 00122250 w589 MF 52 x 1,5 00122840 w3569
MF 14 x 0,5 00115630 w170 MF 28 x 1 00122260 w644 MF 52 x 2 00122850 w3569
MF 14 x 0,75 00115640 w170 MF 28 x 1,5 00122270 w644 MF 52 x 3 00122860 w3569
MF 14 x 1 00115650 w141 MF 28 x 2 00122280 w644 MF 52 x 4 00122870 w3569
MF 14 x 1,25 00115660 m141 MF 30 x 1 00122290 w644

MF 14 x15 00115670 w141 MF 30 x 1,5 00122300 w644

MF 15x 0,5 00115680 w208 MF 30 x 2 00122310 w644

MF 15 x 0,75 00115690 w208 MF 30 x 3 00122320 w644

MF 15x 1 00115700 w174 MF 32 x 1 00122330 w1036

MF 15 x 1,25 00115710 w174 MF 32x 1,5 00122340 w1036

MF 15x 1,5 00115720 w174 MF 32x2 00122350 w1036

MF 16 x 0,5 00115730 w208 MF 32x 3 00122360 w1036

MF 16 x 0,75 00115740 w208 MF 33 x 1 00122370 w1036

MF 16 x 1 00115750 w174 MF 33x1,5 00122380 w1036

MF 16 x 1,25 00115760 w174 MF 33 x 2 00122390 w1036

MF 16x 1,5 00115770 w174 MF 33x 3 00122400 w1036

AVAN
100D

42 nh.o I WIDIAY van WWW.MATARASO.CO.IL



GSRA

D'Tan? nirm

- DIN 1814 Tan% niamix n'1

Nl w e o forf T

W 1/16-5/16 - M1-M8 130 00600020 w36

1 W 1/16-3/8 - M1-M10 175 00600030 w36
1.1/2 W 1/16-1/2 G1/8 M1-M12 175 00600040 w27
2 W 5/32-1/2 G1/8 M4-M12 280 00600050 w51
3 W 7/32-3/4 G 1/8-1/2 M5-M20 375 00600060 m72
4 W 7/16-1 G 1/4-3/4 M9-M27 470 00600070 w147
5 W 1/2-1.1/4 G 1/4-1 M1-M33 700 00600080 w254

- I DIN 1814 Tan%? a1 n'1

Nl w e [ e T

0 W 1/16-5/16 - M1-M8 130 00602020 w47
1 W 1/16-3/8 = M1-M10 180 00602030 w56
1.1/2 W 1/16-1/2 G1/8 M1-M12 180 00602040 w56
2 W 5/32-1/2 G1/8 M4-M12 280 00602050 w96
3 W 7/32-3/4 G 1/8-1/2 M5-M20 380 00602060 w206
4 W 7/16-1 G 1/4-3/4 M9-M27 515 00602070 w286
5 W 1/2-1.1/4 G 1/4-1 M1-M33 700 00602080 w523
6 W 3/4-1.5/8 G 1/2-1.1/4 M18-M42 1000 00602090 w685
7 W 1-2.1/8 G 3/4-1.3/4 M25-M52 1250 00602100 w1219
8 W1-2.1/2 G 3/4-3 M25-M68 1250 00602110 1639

man7o'xy n'm

N T NIX
1 M3-M10 85 00612020 w88
2 M5-M12 100 00612030 w98
10 M3-M10 250 00614020 w120
20 M5-M12 300 00614030 w185
\VAN

10700

WWW.MATARASO.CO.IL W WIDIAY a0

n.s.0

43



GSRA M / UNC / UNF / NPT / BSP / BSW niznnn

[ oan | |__unc [ orin Sl | Bsw [ ot Sl

M 1 00402010 w123 UNC Nr. 4 00462040 w84 BSW 3/32 00436020 w79
M 1,1 00402020 w104 UNCNr. 5 00462050 w84 BSW 1/8 00436030 w79
M 1,2 00402030 w104 UNC Nr. 6 00462060 w84 BSW 5/32 00436040 w79
M 1,4 00402040 w104 UNC Nr. 8 00462080 w84 BSW 3/16 00436050 w79
M 1,6 00402050 w96 UNC Nr. 10 00462100 w74 BSW 7/32 00436060 w79
M1,7 00402060 w96 UNC Nr. 12 00462120 w84 BSW 1/4 00436070 w79
M 1,38 00402070 w96 UNC 1/4 00462130 w68 BSW 5/16 00436080 w79
M2 00402080 w52 UNC 5/16 00462140 w80 BSW 3/8 00436090 w96
M 2,2 00402090 w70 UNC 3/8 00462150 w95 BSW 7/16 00436100 w96
M2,3 00402100 w70 UNC 7/16 00462160 w97 BSW 172 00436110 w106
M2,5 00402110 52 UNC 172 00462170 w130 BSW 9/16 00436120 141
M 2,6 00402120 w70 UNC 9/16 00462180 w135 BSW 5/8 00436130 w154
M3 00402130 a4 UNC 5/8 00462190 w166 BSW 3/4 00436140 w175
M 4 00402150 44 UNC 3/4 00462210 w168 BSW 7/8 00436150 w220
M5 00402170 a4 UNC 7/8 00462230 228 BSW 1™ 00436160 266
M6 00402190 44 UNC 1™ 00462250 258 BSW 1.1/8 00436170 w406
M7 00402200 w47 UNC 1.1/8 00462260 356 BSW 1.1/4 00436180 450
M8 00402210 w47 UNC 1.1/4 00462270 w356 BSW 1.3/8 00436190 w655
M9 00402220 w66 UNC 1.3/8 00462280 356 BSW 1.1/2 00436200 973
M 10 00402230 w57 UNC 1.1/2 00462290 w770 BSW 1.5/8 00436210 w1417
M 11 00402240 w74 UNC 1.3/4 00462300 w1190 BSW 1.3/4 00436220 w1996
M 12 00402250 w72 UNC 2" 00462310 w1190 BSW 1.7/8 00436230 w1996
M 14 00402260 w83 BSW 2" 00436240 w1996
M 16 00402270 w101
M18 00402280 w110 mm mm
M20 00402200 w110 UNENc4 | 00472040 | md BSP 1/8 00452020 w121
M 22 00402300 w157 UNENLS 00472050  mg4 BSP 1/4 00452060 w121
M24 00402310 w157 UNENL6 00472060 w84 BSP 3/8 00452080 w149
M 27 00402320 w268 UNENL8 00472080  mg4 BSP 1/2 00452100  m175
M 30 00402330 m268 UNEN 10 00472100  m74 BSP 5/8 00452120 234
M33 00402340 w672 UNENRA2 00472120  med BSP 3/4 00452130 w333
M36 00402350 w672 UNF14 00472130 e BSP 7/8 00452140 w350
M 39 00402360 | 672 UNF5/16 00472140 w80 57 T T
M 42 00402370 w800 UNF 3/8 00472150 | w05 BSP 1.1/8 00452170 w452
M 45 00402380 w835 UNF716 00472160  m130 BSP 1.1/4 00452180 w480
M 48 00402390 835 UNF 1/2 00472170 w130 BSP 1.3/8 00452190 w583
M 52 00402400 w868 UNEOH6 00472180  m135 BSP 1.1/2 00452200 719
M 56 00402410 w1609 UNF 5/8 00472190 w166 BSP 1.5/8 00452210 w1099
M 60 00402420 w1643 UNF 3/4 00472210 w168 BSP 1.3/4 00452220 w1100
UNF 7/8 00472230 w228 BSP 2 00452230 | m1928
UNF1™12 00472260  m258 BSP 2.1/4 00452240 2558
UNF1.1/8 00472270 w437 BSP 2172 00452250 | w2947
UNF14/4 00472280  ma37 BSP 2.3/4 00452260 w2947
UNF1.3/8 00472290 437 BSP3 00452270 | w3614

UNF 1.1/2 00472300 w945

NPT 1/16 00480010 w315
NPT 1/8 00480020 w315
NPT 1/4 00480030 w325
NPT 3/8 00480040 w441
NPT 1/2 00480050 w441
NPT 3/4 00480060 w735
NPT 1™ 00480070 w945
NPT 1.1/4 00480080 w1155
NPT 1.1/2 00480090 w3225
NPT 2™ 00480100 w4115

I\
1o7DD

44 nh.o I WIDIAY van WWW.MATARASO.CO.IL



GSRA

MF nipinnn

___wF | opn | ann |

MF 2 x 0,25
MF 3 x 0,35
MF 3 x 0,5
MF 3,5 x 0,35
MF 3,5 x0,5
MF 4 x 0,35
MF 4 x 0,5
MF 4,5 x 0,5
MF 5x 0,5
MF 5 x 0,75
MF 5x 0,8
MF 5,5 x 0,5
MF 5,5 x 0,75
MF 6 x 0,5
MF 6 x 0,75
MF 7 x 0,35
MF 7 x 0,5
MF 7 x 0,75
MF 8 x 0,5
MF 8 x 0,75
MF 8 x 1
MF 8 x 1,5
MF 9x0,5
MF 9 x 0,75
MF9x1
MF 10 x 0,5
MF 10 x 0,75
MF 10 x 1
MF 10 x 1,25
MF 11 x 0,75
MF 11 x 1
MF 11 x 1,25
MF 12 x 0,5
MF 12 x 0,75
MF 12 x 1
MF 12 x 1,25
MF 12x 1,5
MF 13 x 1
MF 13 x 1,25
MF 13x 1,5
MF 14 x 0,5
MF 14 x 0,75
MF 14 x 1

npnnn N

DI"'NI7xN

16x5

20x5

20x7

25x9

30x11
38x14
38x10
45x18
45x14
55x22
55x16
65x25
65x18

00414100
00414200
00414210
00414220
00414225
00414230
00414240
00414260
00414280
00414290
00414291
00414300
00414310
00414320
00414330
00414340
00414350
00414360
00414380
00414390
00414400
00414410
00414420
00414430
00414440
00414450
00414460
00414470
00414480
00414500
00414510
00414520
00414530
00414540
00414550
00414560
00414570
00414600
00414610
00414620
00414630
00414640
00414650

D'XT D'TANY

W1/6-3/32
W1/8-5/32
W3/16-1/4
W5/16
W3/8-7/16
W1/2-9/16
G1/4
W5/8-13/16
G3/8-1/2
W7/8-1
Gb5/8-3/4
W1.1/8-1.3/8
G7/8-1

WWW.MATARASO.CO.IL

w104
w63

w104

w104
w63
w56

w104
w56
w56

w104
w104
w56
w54
w104
w104
76
76
w59
w56
w104
w104
w104
w104
w104
w93
w72
w77
w149
w110
w110
w149
w119
w77
w80
w80
w110
w149
w110
w149
w149
w99

M1-M2.6
M3-M4
M4.5-M6
M7-M9
M10-M11
M12-M14
MF12-MF15
M16-20
MF16-MF20
M22-M24
MF22-MF26
M27-M36
MF-27-MF36

__ wmF | opn | ann |

MF 14 x 1,25
MF 14 x 1,5
MF 15 x 1
MF 15x 1,5
MF 16 x 0,5
MF 16 x 0,75
MF 16 x 1
MF 16 x 1,25
MF 16 x 1,5
MF 17 x 1
MF 17 x 1,5
MF 18 x 0,5
MF 18 x 1
MF 18 x 1,25
MF 18 x 1,5
MF 18 x 2
MF 18 x 2,5
MF 19 x 1
MF 19x 1,5
MF 20 x 0,5
MF 20 x 0,75
MF 20 x 1
MF 20 x 1,25
MF 20 x 1,5
MF 20 x 2
MF 21 x 1,5
MF 22 x 1
MF 22 x 1,25
MF 22 x1,5
MF 22 x 2
MF 23 x 1
MF 23 x1,5
MF 24 x 1
MF 24 x 1,25
MF 24 x 1,5
MF 24 x 2
MF 25 x 1
MF 25 x 1,5
MF 25 x 2
MF 26 x 1
MF 26 x 1,5
MF 26 x 2
MF 27 x 1

160

195
195
215
260
Sl
315
445
445
495
495
630
630

00414660
00414670
00414700
00414720
00414730
00414740
00414750
00414760
00414770
00414790
00414780
00414820
00414840
00414850
00414860
00414870
00414871
00414880
00414890
00414910
00414920
00414930
00414940
00414950
00414960
00415000
00415030
00415040
00415050
00415060
00415070
00415080
00415110
00415120
00415130
00415140
00415150
00415170
00415180
00415190
00415210
00415220
00415230

08801010
08801020
08801030
08801040
08801050
08801060
08801070
08801080
08801090
08801100
08801110
08801120
08801130

'nn

w41
w28
w41
w41
w48
w55
w57
w92
w80
w133
104
w199
146

I\
1o7DD

INIW' WIDIAY Nan

99
w93
w266
w266
w266
266
w213
w213
w213
w266
w266
w266
w213
w213
w213
w213
w213
266
w266
w299
w266
w213
w213
w213
w213
w339
w339
w339
w339
w339
w339
w339
w339
w339
w339
w339
w423
w423
w423
w315
w315
w656
w396

___wF | opn | ann |

MF 27 x 1,5 00415240 w396
MF 27 x 2 00415250 w396
MF 28 x 1 00415260 w735
MF 28 x 1,5 00415270 w396
MF 28 x 2 00415280 w396
MF 29 x 1,5 00415285 w571

MF 30 x 1 00415290 w396
MF 30 x 1,5 00415300 w396
MF 30 x 2 00415310 w396

MF 30 x 3 00415320 w653
MF 32 x 1 00415330 w556

MF 32 x 1,5 00415340 w396
MF 32 x 2 00415350 w702

MF 33 x 1 00415370 w556

MF 33x 1,5 00415380 w435

MF 33 x 2 00415390 w435
MF 33 x 3 00415400 w808
MF 34 x 1 00415410 w808
MF 34 x 1,5 00415420 w556
MF 34 x 2 00415430 w796
MF 35 x 1 00415450 w808
MF 35x 1,5 00415460 w451

MF 35 x 2 00415470 w702
MF 36 x 1 00415490 w808
MF 36 x 1,5 00415500 w454
MF 36 x 2 00415510 w454
MF 36 x 3 00415520 w454
MF 38 x 1 00415530 w1428
MF 38 x 1,5 00415540 906
MF 38 x 2 00415550 w1387
MF 38 x 3 00415560 w1387
MF 39x 1,5 00415570 w609
MF 39 x 2 00415580 w609
MF 39 x 3 00415590 w609
MF 40 x 1 00415600 w1387
MF 40 x 1,5 00415610 w607
MF 40 x 2 00415620 w1224
MF 40 x 3 00415630 w1224
MF 42 x 1,5 00415640 w624
MF 42 x 2 00415650 w624
MF 42 x 3 00415660 m624

MF 45 x 1 00415680 w1795
MF 45x 1,5 00415690 w1036

ns.o 45



GSRA M/ MF / UNC / UNF / BSP / BSW |xa naidDn Tan
une | orm | von S UNF | on | e
M2

00302080 w52 UNC Nr. 4 01604040 UNF Nr. 4 01704040
M2,5 00302110 w33 UNC Nr. 5 01604050 w101 UNF Nr. 5 01704050 w109
M3 00302130 w44 UNC Nr. 6 01604060 w97 UNF Nr. 6 01704060 w104
M 4 00302150 a4 UNC Nr. 8 01604080 w96 UNF Nr. 8 01704080 w108
M5 00302170 w4 UNC Nr. 10 01604100 w103 UNF Nr. 10 01704100 w115
M6 00302190 — UNC Nr. 12 01604120 w115 UNF Nr. 12 01704120 w128
M8 00302210 w55 UNC 1/4 01604130 w111 UNF 1/4 01704130 w130
M 10 00302230 w62 UNC 5/16 01604140 w125 UNF 5/16 01704140 w129
UNC 3/8 01604150 w141 UNF 3/8 01704150 w141
UNC 7/16 01604160 w172 UNF 7/16 01704160 w179
m UNC 1/2 01604170 w185 UNF 1/2 01704170 w172
M3 00309130 w30 UNC 9/16 01604180 w277 UNF 9/16 01704180 w279
M4 00309150 w31 UNC 5/8 01604190 w235 UNF 5/8 01704190 w229
M5 00309170 w33 UNC 3/4 01604210 w318 UNF 3/4 01704210 w313
M6 00309190 w37 UNC 7/8 01604230 w388 UNF 7/8 01704230 w393
M8 00309210 w44 UNC 1 01604250 w505 UNF 1 01704250 w530
M10 00309230 w56 UNC 1.1/8 01604260 w607 UNF 1.1/8 01704270

M 12 00309250 w88
M14 00309260  mi0s | BSW |
M 16 00309270 w108 -E-m BSW 1/8 01304030 w128

M 18 00309280 w109 BSP 1/8 02504020 w154 BSW 5/32 01304040 w128

M 20 00309290 w162 BSP 1/4 02504060 w210 BSW 3/16 01304050 m99

M 22 00309300 - BSP 3/8 02504080 w257 BSW 1/4 01304070 w128

M 24 00309310 w247 BSP 1/2 02504100 w347 BSW 5/16 01304080 w162

M 27 00309320 266 BSP 5/8 02504120 w431 BSW 3/8 01304090 w184

M 30 00309330 BSP 3/4 02504130 w549 BSW 7/16 01304100 w212

BSP 7/8 02504140 w702 BSW 1/2 01304110 w212

BSP 1 02504150 w768 BSW 9/16 01304120 w323

BSP 1.1/8 02504160 1059 BSW 5/8 01304130 w323

BSP 1.1/4 02504180 w1273 BSW 3/4 01304140 w623

BSP 1.3/8 02504190 BSW 7/8 01304150 w757

BSP 1.1/2 02504200 w1764 BSW 1 01304160 w857
BSP 1.3/4 02504220 w2385 BSW 1.1/8 01304170 w1224
BSP 2 02504230 w2739 BSW 1.1/4 01304180 w1567
BSW 1.3/8 01304190 w2336
BSW 1.1/2 01304200 w2336

L MF | opn | vnn [ MF | ogn | vnn BN WMF | o | o

MF 3 x 0,35 02204260 w145 MF 14 x 1,25 02204660 w223 MF 24 x 1 02206110 w544
MF 4 x 0,5 02204270 w145 MF 14 x 1,5 02204670 w222 MF 24 x 1,25 02206120 w752
MF 5x0,5 02204280 w145 MF 15 x 1 02204700 w279 MF 24 x 1,5 02206130 w408
MF 5x 0,75 02204290 m169 MF 15x 1,5 02204720 w358 MF 24 x 2 02206140 w458
MF 6x 0,5 02204320 w146 MF 16 x 1 02204750 w265 MF 25 x 1 02206150 w802
MF 6 x 0,75 02204330 w144 MF 16 x 1,25 02204760 w370 MF 25 x 1,5 02206170 w802
MF 7 x 0,75 02204340 w158 MF 16 x 1,5 02204770 w252 MF 26 x 1 02206200 w802
MF 8 x 0,5 02204350 w169 MF 18 x 1 02204840 w341 MF 26 x 1,5 02206210 w802
MF 8 x 0,75 02204390 w161 MF 18 x 1,25 02204850 w471 MF 26 x 2 02206220 w802
MF 8 x 1 02204400 w146 MF 18 x 1,5 02204860 w312 MF 27 x 1 02206230 w929
MF 9 x1 02204440 w169 MF 18 x 2 02204870 w350 MF 27 x 1,5 02206240 w929
MF 10 x 0,75 02204460 w209 MF 20 x 1 02204930 w367 MF 27 x 2 02206250 w929
MF 10 x 1 02204470 w153 MF 20 x 1,25 02204940 w528 MF 28 x 1 02206260 w929
MF 10 x 1,25 02204480 w191 MF 20 x 1,5 02204950 w350 MF 28 x 1,5 02206270 w929
MF 11 x 1 02204510 w270 MF 20 x 2 02204960 w477 MF 28 x 2 02206280 w929
MF 11 x 1,25 02204520 w270 MF 21 x 1,5 02204980 w528 MF 30 x 1 02206290 w1077
MF 12 x 0,75 02204540 w270 MF 22 x 1 02206030 w510 MF 30 x 1,5 02206300 w1077
MF 12 x 1 02204550 w177 MF 22 x 1,25 02206040 w651 MF 30 x 2 02206310 w1077
MF 12 x 1,25 02204560 w199 MF 22 x 1,5 02206050 w372 MF 30 x 3 02206320 w1077
MF 12x 1,5 02204570 166 MF 22 x 2 02206060 w510 MF 32x 1,5 02206340 w1318
MF 13 x 1 02204600 w337 MF 23 x 1,5 02206080 w752 MF 32 x 2 02206350 w1318
MF 13 x1,5 02204620 w337 MF 24 x 1 02206110 w544 MF 32 x 3 02206360 m1318
MF 14 x 0,75 02204640 w337 MF 24 x 1,25 02206120 w752 MF 33 x 1,5 02206380 w1318
MF 14 x 1 02204650 w235 MF 24 x 1,5 02206130 w408 MF 33 x 2 02206390 w1318

I\
1o7DD

46 nh.o I WIDIAY van WWW.MATARASO.CO.IL



Think threads with

YAMAWA

NI WIDIAY XA

.03-6819088 :0p9 ,03-6820720 ,03-6822084 D0
info@mataraso.co.il  WWW.MATARASO.CO.IL

NS0 | N"Un DM XY DNIDID DINDN






